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@é&é%g & S2:Q0h

Jx+4Jy ¥ —xy+)y’

NTTNS o X TTY
If NEEN find the value of 7 41y 4y
Jx+.fy X =xy+y’

=2 z 7

\/;+\/; ©o0d R Qend Noe?
1)4 2)3
3)73/91 4)91/73

Find the value of a* + b* + ¢* - 3abc when a
=225, b=226, c=227

a=225, b=226, ¢=227 e@ond *+b>+ ¢’ -
3abc Dend doB?

1)2034  2)2340 3)2304 4)2430
The value of (0.98)° + (0.02)* +3 x 0.98 x
0.02-11s

(0.98)* + (0.02)*) +3x0.98x0.02-1="2?
1)1.98 2)1.09 3)1 4H0
Given that 12+ 2%+ 32+ —---- +20?=2870,
the value of 22 + 4% + 6 + -—-- + 40? is.

12422+ 324 coeee +20%=2870. wond 22
+ 424+ 62+ ———- + 40% Dend dos?

1) 11480 2) 5740

3) 28700 4) 2870

The LCM of twonumbers is 495 and their
HCEF is 5. If the Sum of the numbers is 100,
then their difference is.

Bogdh Dogge ErrHd 495, K5Jvge 5. 3 o

100 ®@onsd & BB dos?

1) 10 2) 46 3) 70 4)90

Let N be the greatest number that will divide
1305, 4665 and 6905 leaving the same re-
mainder in each case. The sum of the digits in
Nis.

1305, 4665, 6905 o grAde, (HAI &3
3505 8313 ﬁ@{; éosp§ N @ N 8% evo8e
oo No&?

1)4 2)5 3)6 4)8

A number divided by 13 leaves a remainder
1 and if the quotient, thus obtained, is divided
by 5, we get a remainder of 3. What wioll be
the remainder if the number is divided by 65
9

a8 éoaa?gzéa S5 18, 5 03 wﬂ?foo, 2.63;) DB
3den 1, 3 ©F Doggd 65 3 erhR 53.0) 350
Qo&?

UNIQUE STUDY CIRCLE

2

10.

I1.

12.

1)28 2) 16 3) 18
Whatis 376-1.4576 €qual to.
376-1.4576 =7

1) 23100191 2) 23101091

3) 23110091 4) 23110901

A, B, Cand d purchase a gift worth Rs.60.
A pays 1/2 of what other are paying, B pays
1/3 of what other are paying and C pays 1/4
of what other are paying. What is the amount
paidby D ?

A,B,C,D en 892 60 dend Ko 850508
oot B, A 3QodS Play, e
TBOLE BN TS® Kiso, B B sk,
QDo B0 BYoDS oSt 1/3 Lok C
BYoNS Ay , QoifEe B IYoDS 1/48
$o&H, wond D 3o @%6;)& Q0 ?

I)Rs. 16 2)Rs. 13

3)Rs. 14 4)Rs. 15

If average of 20 observations X , X,, ---- X,
isy, then the average of x -101, x,- 101, x,
-101, ----- X,, = 101 is.

X,5 X,y == X,y 03 20 @0zee $Ken Y ©owd
x, -101, x, - 101, x, -101, ----- X,, - 101
©OBTO NN Joes?

1) y-20 2)y-101

3)20y 4) 101y

The number of students in a class is 75, out

4) 40

. 1 .
of which 335% are boys and the rest are girls.

The average score in mathematics of the boys

. 2 .

1s 665% more than that of the girls. If the
average score of all the students is 66, then
the average score of the girls is.

1
BEKBE® 75 Hr06 &)wgégw ok, P08 335%

©92I%)00eD, Qora® 7% @26313033&», KBS0t
©eI%)00® S9exn @‘5&60, @Zéovéoooe Eo&

2
665%@®§o. ©0L% 3)(:?56@)0 Srsen 8> 66.

©oNS 5T $iien AN Jod?

1)52 2) 55 3) 54 4) 58

The sum of two positive numbers is 20% of
the sum of their squares and 25% of the dif-
ference of their squares. If the numbers are x

and y then 2y 1s equal to.

X+
X
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13.

14.

15.

16.

X, Y @3 Botd Sogge 3080, 78 e Sdos?
20%, won & Soee B0t 25% eond

+
xxzy Qend dos?

1) 1/4 2)3/8 )13 4)2/9

In an examination in which full marks were
500. A got 10% less than B. B got 25% more
than C. C got 20% less than D. If A got 360
marks, what percentage of full marks was
obtained by D ?

e.8 988 KOE Sednen 500. A Srtnen B Eo&
10% &8935, B Srdye, C o8 25% DEY,
C &rten D go& 20 &5, ASenen 360

ool D &rodsd Srdne sedo Qod?

1)90%  2)80% 3)50% 4)60%
Study the given pie chart and answer the ques-
tions that follow.

Break-up (degree-wies) of the number of stu-
dents in five schools (A, B,C,Dand E)ina

city.

Shap
Total number of students = 5200

The number of students in school C is what
percentage more than the number of students
in school B ?

2 SgrFo £08, Bed rswestd 8)(3%363@55
DY)IHH, A S8 3)(32368@ Dogy dod o
DENN?

1)7.2% 2)10% 3)11% 34)9.5%
On a certain item profit is 150%. If the cost
price increases by 25% what will be the new
profit margin (in %)

3209 150% orgio $:008. &8 3¢ &%) 3o
25% 2BAB, S $3) orgfaedo Jod?
1)25 2) 50 3)100 4)75

A reduction of 20% in the price of salt en-
abled a purchaser to obtain 4 kg. More for
Rs. 100. The reduced price of salt per kg is.
&3P &8 20% Siko Hoi, af b 100/-
o 4 8.8 o &3P egSomr & 50R en

Bohred. &8 NS Sond 8.4 &3P K8 DoB?
1)Rs. 4 2)Rs. 5
3)Rs. 6.25 4)Rs. 6.50
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17.

18.

19.

20.

21.

22.

A shopkeeper sold an item at 10% loss after
giving a discount equal to half the marked
price. Then the cost price is.

B808 §86%, Sro Denss Trowdre B,
5295 10% Trond8® wkimb. wond §°%)
So, (B8RS 555

1) 1/9th of marked price

2) 4/9th of marked price

3) 5/9th of marked price

4) 7/9th of marked price

A shopkeeper allows 10% discount on goods
when he sells without credit. Cost price ofhis
goods is 80% of his selling price. If he sells
his goods by cash, then his profit is.

S FHIo, @&13&26 R08° 80%, 10% oeand
a@aéo"a‘géﬁé, @8 ergl B°B0 Dos?

1)50%  2)70% 3)25% 4)40%

In how many years will Rs. 2,000 amounts to
Rs. 2.420 at 10% per annum compound in-
terest ?

10% S(E5&38e0&®, 2000 Do seewod® 2420

wBore ©HEod?

1
1) 3 years 2) 25 years

3) 2 years 4) 1% years

A sum of money becomes eight times of itself
in 3 years at compound interest. The rate of
interest per annum is.

§08 e SESE Beedo, 3 $o.08° 8 Biy
©HB0H. NI 26(28&)3 Q0&?

1)100% 2)80% 3)20% 4)10%
On what sum does the difference between

the compound interest and the simple interest
for 3 years at 10% is Rs. 31.

508 ebend 10% $&0ens®, 3 Ko. soxd
2.631) CL SI o 880 31 @and @den Jos?

1) Rs. 1500 2) Rs. 1200
3)Rs. 1100 4) Rs. 1000

If GJP = (%)Q = G)R, then whatisP: Q:
R?
(%JPZ(ngZ(%jRa and P:Q: R Qod?

1)24: 45 : 40 2)24:18:45
3)24:40:45 4)12:45: 40
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23.

24.

25.

26.
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The number of students in three classes are in
theratio 2 : 3 : 4. If 12 students are increased
in each class, this ratio changesto 8 : 11 : 14.
The total number of students in the three
classes at the beginning was.

St SBKSOS 3)(32368@ éogp?g Eﬁ)éﬁé f:)o“%)ga; 2
P31 4. (8 85K58S° 12 H0bd Dustes HOAB
s QB 8: 11: 14 e J°806. F0e5ed 03¢
B85S0 Iwdo Dege Hogyg Qod?

1) 162 2)108  3)96  4)54

An alloy is made by mixing metal A costing
Rs. 2000/kg and metal B costing Rs. 400/
kg. intheratioA:=3: 1. What is the cost (in
Rs) of 8 kilograms of this alloy ?

8.4, 2000 Ko A o3 &%%ro, .4, 400 Ko B
o3 §%rood A:B=3: 1 ed dforr Senre,
8 8.8 0 QS0 8.4, 8 dos?

1) 1600  2)9800 3) 6400 4) 12800
One year ago, the ratio of the age (in years)
of A to that of B was 4 : 3. The ratio of their
respective ages, 3 years from now, willbe 6 :
5. What willbe the ratio of respective ages of
A and B. 9 years from now ?

2.8 Dod&o 8o A, B Sobkie I8 4 :
3, 3 Yo. o 770 Hohe PG 6 : 5.
wond 9 Jo.0 doxg A, B Schdne 98
D0&?

1)7:6 2)10:9 3)9:8 4)8:7
A, B and C started a business with their capi-
tals inthe ratio 2 : 3 : 5. A increased his capi-
tal by 50% after 4 months, B increased his

capital by 33%% after 6 months and C with-

drew 50% of his capital after § months, from
the start of the business. If the total profit at
the end of a year was Rs. 86,800, the differ-
ence between the shares of A and C in the
profit was.

A, B, C egathe g 2: 3 : 5. 4 Joo
o8, A 50% Deparls Dowd. 6 Joe Sod

1
B, 335% Depad Do, 8 Jve doxd C

50% 5% éméam&c‘é). 1 Jod&B0o VRS
PodS Iwgo ergio 86,800. wand A, C aeer
Beso do&?
1)Rs. 12,600
3)Rs. 9,500

2) Rs. 7,000
4) Rs. 8,400
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27.

28.

29.

30.

31.

A, B, anc C are partners. They share profits
intheratio of 5: 3 : 6. IfAearns Rs. 1,92,380
as his share of profit, then the share of C is.
A, B, C orgre 38 5: 3: 6. A erglo 1,92,
380 @ond C orgfo dos&?

1)Rs. 2,30,856 2)Rs. 1,15,428

3) Rs. 82,449 4)Rs. 1,60,317

X can complete a work in 27 days and Y can
do the same work in half of the time taken by
X. Working together what part of the same
work can they complete in a day ?

X a8 5 27 &ers® Johrern. X T
08, 5o P08t Y Bohserd. wand atgéa

O 2.8 8P Dod grfo HAD BoHkedH?
1)1/9 )16 3)1/12 4)2/27

A does 7/10 part of work in 15 days. After
that he completes the remaining work in 4
days with the help of B. In how many days
will A and B together do the same work ?

7/10 $0% 5D A 15 8%er&® Sahiterrd. HADS
50 B $:5550008° 4 8%r&? dactd. agdd 0
® B Q) A Berd Tohret?

1 2

1) 105 days 2) 12§days
1 1

3) 133 days 4) 81 days

Pipes A, B and C can fill a tank in 30 hours,
40 hours and 60 hours respectively. Pipes A,
B and C are opened at 7 a.m., 8 a.m. and 10

a.m. respectively on the same day. When will
the tank be full ?

A, B, C 3 en S8 erg0B% 30 Ko,
40 0., 60 Ko. ©&® JoHKeD). & St FVS)
$odre 7am, am, 10 am & 80Tt ¢r50%
D 300508 JotHEod?

1)10.00 p.m 2)10.20 p.m
3)9.20 p.m. 4)9.40 p.m

Two trains leave Varanasi for Lucknow at
11:00 a.m. and at 11:30 a.m. respectively and
travel at speeds of 110 km/h and 140 km/h.
respectively. How many kilometres from
Varanasi will both trains meet ?

Both By TR Hol ofHE SHIT o
.11.00, 11.30 & 110 8.&./ Ko. 140 8.5v.¢6
Ko, HBH JIros® (HosrBosSrron. @
TBeR 5008 Dod BrEoS® Sentodrotron?
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32.

33.

34.

35.

36.
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1) 256§km 2) 255%km

3)246%1{;" 4) 238§km

A person goes to his office at 1/4th of the
speed at which he returns from his office. IIf
the average speed during the whole trip is 15
km/h. then what is the speed of the person
while he was going to his office ?

8 38, w8 86A $) Jos® 1/4 So
S50 (HosrBomrd. e Fwdo (Hosreeos® Hrén

S50 15 8.80. /0. wond e5Hi8 IS dog?
1) 17/3 km/hr 2) 9 km/hr

3) 15/2 km/hr 4) 75/8 km/hr

A train travelling at the speed of x km/h
crossed a 200 metre long platform in 30 sec-
onds and over took a man walking in the same
direction at the speed of 6 km/hr in 20 sec-
onds. What is the value of x ?

2.8 Bew X 8.8v./Ko. Jro&® (Hasreddz, 200
. PEH Ko FreSero 30 .08t edob.
o8 63 6 8.2, /0. Srfo&® ) X58 20 .

o&® Bob. ©ond X Jend Dos?

1) 50 2) 54 3)56 4) 60

A person can row a distance of one km up-
stream in ten minutes and downstream in four
minutes. What is the speed of the stream.
a8 58 (HarsstA8 H5&Tp HIS® 1 8.2
&80, 10 dwapres?, (Harde 68® 4 J.08°
(DoSeBosKet. s [Haede Sito Jos?
1)4.5 km/hr 2)4 km/hr

3) 9 km/hr 4)5.6 km/hr

Chords AB and CD of a circle interest at E.
IfAE=9 cm, BE =12 cm and CE = 3DE,
then the length of DE (in cm) is.

25@55;0@38 AB,CD esxen E 3 gofioHHoera.
AE =9 cm, BE=12 cm, CE = 3DE @oxd
DE P& Qo&?

1)9/4 2)4 3)6 4)7

The slant height of a frustum of a cone is4 cm
and the perimeters (circumference) of its cir-
cular ends are 18 cm. and 6 cm. The curved
surface area of frustum will be.

28¢5 GBwE) Tren o K 4 0.8, T VHBe
iﬁsé%o) Foden ST 18 0.8, 6 0.8, eond

288 SESe JPego dod?

UNIQUE STUDY CIRCLE

37.

38.

39.

40.

41.

42.

1)48 cm? 2)40 cm?

3)20 cm? 4)25 cm?

Ifthe curved surface area of a solid cylinder
is one-third of its total surface area, then what
is the ratio of its diameter to its height ?

dpHo Do), HESe Jrego Sorgse
degos® 35 Hodh wond TR %Ko, I
AYB do&?

1)5:2 2)1:1 3)2:1 4)4:1
The diameter of a wheel of a cycle is 126 cm.

. . .
A cyclist takes 165 minutes to reach his des-

tination with the speed 72 km/hr. In this travel
how many revolutions will be taken by the

22
wheel . (Take 7)
288 o ae5%0 126 20.80. 285 72 8.80./

1
Ko. SKo&® 3@@3, 165 RENEISIoN ﬁéag@;:éo

BEKOK. o0 DBS FBo B (e Sogy
Do&?

1)4500 2)5200 3)400 4)500

If the area of an equilateral triangle is 36 /3
cm?. then the perimeter of triangle is.
SHoerdo (Bghao DnE) Jecego 363
5.20.8b. @ond o SepEod Jod?
1)36.3 cm 2)18.3 cm
3)12cm 4)36cm

A basket contains 4 red, 5 blue and 3 green
marbles. If three marbles are picked up at
random what is the probability that at least
one is blue ?

a8 awége‘i‘s 4 5D, 5 ap, 3 (S poden Eod.
aSegyNBorr 3 oo &R, 8o / ap
SN S0grE Jod?

1)7/21 2)37/44

3)5/12 4)7/44

In a examination there are three multiple
choice questions and each question has 4
choices. The number of ways in which a stu-
dent can fail to get all answer correct is.

a8 H8gs® 3 DEeo o), (5 (DEB Trenrd
88.Q) foid. @fb& BN Sdrgedo
1980DIYD 985 Pond e—pcﬁaé Dogrsgd Jod?
11 2)27 3)12 4) 63
Two candles having the same lengths are such
that one burns out completely in 3 hours ata
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43.

44,

45.

46.

ujiform ratey and the other in 4 hours. At what
time should both the candles be lighted to-
gether so that at 4 p.m. the length of one is
twice the length of the other ?

&8 Q&Ko Bo 5%508S) SHde 3 Ko., 4
Ko.o? 5@@?@2@). TEY D BRI IVAD,

P, 4. 8 & QY 1: 2 ™ &otood?
1)1:24PM. 2)1:30PM
3)1:36 PM. 4)1:42PM.
Which part contains the fractions in ascend-
ing order ?
5808 8S* etiren (Eo HB?

11 16 19 16 11 19

14719721 19714721

16 19 11 19 11 16
9201 ) 21419
In one glass, milk and water are mixed in the
ratio 3 : 5 and in another glass they are mixed
intheratio 6 : 1. In what ratio should the con-
tents of the two glasses be mixed together so
that the new mixture contains milk and water
intheratio1:17?
o8 mEns® o, K Do 1YY 3 5.
3678 e 61 1. @ Botd MESTe 68
st O 0 BS° OB HOB Mo’ areB,
fb%?;)éa oo P8 1: 1 e Gotnod?
1)20:7 2)8:3 3)27:4 4)25:9
A, B and C invest in a business in the ratio 3
:6:5. Aand C are working partners. Only B
is a sleeping partner hence his share will be 3/
4 th of what it would have been if he were a
working partner. If they make Rs. 50,000
profit, half of which is reinvested in the busi-
ness and the other halfis distributed among
the par
A, B, C 3epatoo 08 3: 6: 5. A H05»
C 0 Desgriidesinen B o8 0o groriegdo
B Qe grrideggore &08 263Q ergios® 3/4 Hok
IrB Foderds. JoBBBo Sowd DO
Swgo ergfo 50,000 o $Kod oo

Rl 2EB, WADS orgos® C aoer J08?
1) 20,000 2) 6000

3) 9000 4) 10,000

4 men and 5 women can complete a work in
15 days, where as 9 men and 6 women can
doitin 10 days. To complete the same work
in 7 days, how many women should assist 4
men ?

UNIQUE STUDY CIRCLE
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47.

48.

49.

50.

51.

4 Hdosoen LB 5 Beo 502 15 Sere®
R 9 HBFHeD S0 6 Gen OV 10 Berd®
a8 HAD Johod. o8 SIS 7 Serst
B0, 4 H HBDOE, o Hod @@3
Qo 58807

11 2) 14 3)12 4)13

A earns Rs. 40 per hour and works for 12
hours. B earns Rs. 60 per hour and works
for 10 hours. Find the ratio of their per days
wages.

A o3I $8 Ko 40 Jorodr 12 Koo
Fen, B oI &8 Kot 60 Soxrtdm, 10
Kotre Fem HY . wowd 8 ey 706
Boarsde Y Jos?

1)15:4 2)6:5 3)4:5 4)5:4
4/5 th part of a tank is filled with oil. After
taking out 42 litres of oil the tank is 3/4 th
part full. What is the capacity (in litres) of the
tank ?

erg0%8® 4/5 grifo $r3 Sod. Tl Kod 42
He8 3% 8, BBo 3/4 grifo dodore
Bk, ond er5oH @éotgfgo Qo&?

1) 420 2)630 3)840  4) 1680
A man takes 6 hrs. 30 minutes in walking to a
certain place and riding back. He would have
gained 2 hours 10 minutes by riding both way.
The time he would take to walk both ways.
2.8 $58 rigrso Srhdbotr 3Y), HEHE?
D 6 0., 30 Q. Hro&ok. Bok He HHRAS
2 150. 10 Q.0 SEsd D0ADo DEHS0H. o0
3ot Bho JEJ Vod HFHHo HHFod?

1) 8 hrs. 20 min 2) 4 hrs. 10 min

3) 8 hrs. 40 min 4) 4 hrs. 20 min

A journey of 96 km takes one hour less by a
fast train (A) than by a slow train (B). If the
average speed of B is 16 km/h less than that
of A, then the average speed (in km/hr) of A
is.

B SBwE), Srfen 3K0, A SwE), Srfen 350 Bo&s
16 8.30./K0. &85 96 8.80. &rSod
(HBrBoHers B& 1 Kot @088 oo
&8, wand A @) HKen Bko Jod?
1) 64 2) 48 3) 54 4) 60
How many pair of letters are there in the word
‘MEDITATION’ which have as many letters
between them in the word as in the alphabet
series | ?
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‘MEDITATION’ e $585508° e58505%
OFBINID g 6y B> 08 JBHore son
@éézﬁwoé‘s &0tJEY 6J) den IY?
1)2 2)3 3)4 4)5
Direction (52-53):
K34@M65£ EGFINT7#V?28Y*
98UTW2
How many symbols are there which are
immediately followed by a letter and preceded
by adigit?
adS BBS® A Hthen, ©FBZ0H SKaed
EON 000 @085 Swothre EOA GR)ER
BoH?
1)2 2)3 3)44) 1
Which element is 7 to the left of 17% ele-
ment from left if 1* half of the above series is
reversed?
s FBS° IssS Srigrrsnts 588 636"
(BP0 BBraed DX o0& 178 HSwreBHindsd,
AEHID 75 Soreso d&?
HM 2)G 3@ 4)6
Direction (54-55): Find the wrong number in the
following Number Series
(8o =iNS Dogy LN BJpre &8 Doggo
K80,
6, 15, 49, 200, 1011, 6072
1) 49 2)200 3)1011
999, 729, 136, 12, 2
1) 999 2)12 3) 136 4)2
Direction (56-57): Complete the following even
series

52.

53.

54,
4) 6072
55.

56. NROM, EIFD, MRPO, DIGF,
LRQQ,
& (8ot ad)S (Beovey edom.
1) CJHH 2) CIIH
3) CUH 4) CIHH
57. 4,3,6,17,62,
1) 282 2)292  3)272  4)250
58. Statement: Use our medicine to fight the prob-

lem of obesity.

Assumption: I) Other slimming medicines
available in the market do not re
duce weight

IT) Obesity cannot be con

UNIQUE STUDY CIRCLE

trolled without medicines.

(SEeS: 1) &asecdo ééa@@ﬁ
PEHLBEN T S BARGreOD
&H&rAoBod.

&S5edea: ) 253@823565 080T 8B8 Joen
D BErwe B BROTD.

1) Sroten THowe GadhseaiR)
QoSo@osBHw.

1) Only I is implicit

D I &m@ ekdEdss

2) Only II is implicit

2) Il S 8RR
3) Both I and Il are implicit
3) Iobcsw Il esdEmse
4) Neither I not I is implicit
4) 150005 Il 95858089 50k
Statement: Should the Government supply
free electricity to the poor farmers?
Arguments: I) No, Government should not
provide free electricity to any
body.
1) Yes, The poor farmers are not
in a position to pay the electricity
bills.
2 3o (Hghdo ¢S DLgS
$8Hoe Bord.
SSoen: 1) 50, (HeHSEn 568 &DS
DS BGERED.
2) @50, D Béen E30én Heyen
88 $0%88° Bto.
1) Only I is strong
TS50 [ SeBah eS8
2) Only Il is strong
S50 1 SrE8 20FH6.
3) Both 1 & Il are strong
FeeSSnen [ 08k I eeopde
4) Neither [ nor Il is strong
aeesSnen [ p8ai Il 2opds seeh
Direction (60-62): Which is the one that does not

59.

(H8eo:

belong to the group.

(Bods SN FBSE X0 SHO Beo)w.
60. 1)DL-84 2) FC-81

3) HG-65 4) QE-85
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61. 1)96:287 2)75: 174
3)34: 73 4)84:128
62. 1)91 2)126  3)105  4)144

Direction (63-64): Study carefully the following
information and answer the questions given
below.

Seven persons A, B, C, D, E, F and G are

seated around a circular Table and facing the

center. G is third to the left of A. F is third to

the left of B. D is not the neighbour of G. C

is the neighbour of A. B is to the immediate

left of A.

(B0t BQ)S SEPTEE0D ST S0 HHRS

BOED VRGBS Beosysm.

A,B,C,D,E, F £805» G e 7rH 5Ben

a8 QTHBD) Y Héap S oo 3D

Sr08, G A H Sl AEH0IDH

&etpoad. F, BB 5 8550 Eeinoaio.

D, G % $&m &8, C, A% S&m

Er)oak. B, A% 8% Q8035 Erdy)oa.

Which of the following is “TRUE’

8o v BSE* D& $JXH.

1) Cis between D and F.

D %800 F o gy C grty)oas

2) F is to the immediate right of G

F, G & 88 83D Ertnors
3) Dis to the immediate left of C

D, C% 88 2 3 Er)oad
4) Aiis between B and C

B 800 C o &gy A Er8)oa

What is the position of E?

E &%) 5);?60 A&

1) To the immediate right of B

B & g 08350 &edyodd
2) Between G and F
G 0805w F o gy Erty)oass
3) Third to the right of C
C & 508 HEIH Erdor
4) To the immediate right of G
G & 8ge HAIDH ErEoR.

Direction (65-67): In a certain code A is coded
as $, Biscoded as $ @, Cis coded as $$, D
is coded as $@@ and soon... Then answer
the following questions.

63.

64.

UNIQUE STUDY CIRCLE
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65.

66.

67.

68.

69.

2.8 K0t A S $ e e, B S @
s, CH $$ e, DH $ @@ o b
QS0 DADS BEEZHeDH Srte 858 B, S8
Bod DB JLXrerdsimen SBensdsn

How is Z to be coded

Z % dee 858 Sodhsesn?

1) $S@@$ 2) $S@S@

3) $8S@$ 4) S@S@$

Which letter is coded as $@@$$?

O wgBo $@W@SS & Tchadis?

)R 2)Q 3)S 4HT
Complete the following series by using the
above give code?

s S& Hogrl wrrorr & (8od (BBS
Ehard Hiy) 56 D&?

$@, S@@, $$$, @33, S,
1) S@S@$ 2) $$$@$

3) S@3S$$ 4) S@3S@
Inafamily of Six personsP,Q, R, S, T and
U. Pis the Husband of Q. R is the Son of P.
S is the Daughter of Q. T is the Daughter of
U. Risthe Fathe of T. Then how is P re-
lated to U.

P,Q,R, S, T8cw U en a8 &enoos
gZyen.

P, Q Gw%) 458, R, P @& Hsdots. S, Q
BwE) &8, T, U &) $508. R, T &g
Bol& wond P, U o d0rHe?

1) Father-in-law 1) Soodoredd
2) Father 2) Sol&

3) Uncle 3) 380
4) Brother-in-law 4) eH /5088

Pointing to Sravani, Kiran said “Her mother-
in-law is the only daughter-in-law of my son’s
Grand Father” How is Sravani related to
Kiran.

(BoRBR SesHEr 88 & Defore I.

‘e T8 0ET, TPHITRH SEO8 VY
85en wowd (358, 8865 HHHK?

1) Mother-in-law 1) o0&
2) Mother 2) 89
3)Aunt 3) 58
4) Daughter-in-law ~ 4) &5ex
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70. 5213:4::9519: ?
1)5 2)6 3)7 4)8
71. SINGER:GTIPUK::DREAMS:  ?
1) OUCGET 2) OUCGFT
3) OUDGFT 4) OUCGFR

Direction (72-75): Read the information carefully
and answer the questions given below

Seven friends A, B, C, D, E, F 5805 G work-
ing as Clerk, Manager, Doctor, Engineer, Ar-
chitect, Teacher and Lawyer lives in different
cities Hyderabad, Mumbai, Chennai,
Trivendram, Kolkota, Bangalore and Bhopal,
but not is the same order.

Cislives in Chennai and is neither Lawyer nor
Architect. Eis working as a Doctor at Banga-
lore, A, works as Teacher but does not live in
Hyderabad or Kolkata. The one who is Man-
ager lives in Mumbai. The one who is lives in
Hyderabad working as Engineer. F lives in
Kolkata, G lives in Trivendram, working as a
lawyer. D is not Manager.

o aNS SSeTEI0H IO (BSOS
DIed&dmen BendSm.
A,B,C,D,E,Fo8cm G o3 7 v ?Socl%}’ééaen
Clerk, Manager, Doctor, Engineer, Architect,
Teacher $8c Lawyer ol fHhed® Soth
BB T ADE SK8Xwen Hyderabad,
Mumbeai, Chennai, Trivendram, Kolkota, Ban-
galore 8¢5 Bhopal, & ds%oiibors. C,
Chennai &® 95%0:9:H0R%. =0 w85 Lawyer
mQ), Architected so¢h E 208 Doctor, Banga-
lore &° 95R0Hehor%. A 2.8 Teacher re &
Hyderabad ¢* e, Kolkata &% 9
QE00HETD. Db 2%@65 &) 558 Mumbai
& dRodhoan. Hyderabad &° Q520 558
Engineer. F, 8¥&8eres® dRodhhors. G,
Trivendrame® d8d&8y Lawyer m &
BoswHorsn. D, Hesd so.

Who amongst the following works as a Man-
ager?

D8&° HJesbrr HO T KB AHH?

1)F 2)C 3)B 4D

72.

UNIQUE STUDY CIRCLE
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73. What s the profession of C?
C &g 58 2&?
1) Clerk 2) Engineer
3) Lawyer 4) Doctor

74. ‘A’lives in which city?

A, & $5808° SR0HhorH?

1) Hyderabad 2) Kolkata
3) Trivendram 4) Bhopal

75. Which of the following is correct combina-
tion?

1) A-Teacher-Hyderabad
2) E-Doctor-Kolkata

3) D-Engineer-Hyderabad
4) G-Lawyer-Bhopal

76.
T P
1) 8145 2) 3437
3) 9256 4) 4928
14| 9 [12]20
49| 8|10
12137 |20
Tl 5 s[n]>
20 [ 42 | 19 | 40
1)2 2)8 312 414
78. Find the angle between the two hands of a

clock at 06 hours 15 min 12 seconds ?

6 Koo 15 JRdwe 12 EJe JSkc%Hho
@@éaéé&@:é) Kodre zéwéogéo 08050 AR 0
Zéw%%)é) zﬁaéegﬁ@ &%00 dos?

1)96.4 2)85.5 3)864 4)CND

Direction (79-81) : Study the following Informa-
tion carefully to answer the questions.

A
79. A~ BuC)=?
D1l 27 313 4)15
80. AuBnOC)=?
D15 2)16 317 4)18
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81.

82.

83.

&4.

85.

(A a) B) (W) C = ?

1)23 2)22 3)24  4)None
Which sequence of mathematical symbols can
replace * in the given equation to balance the
equation ?

O KBS H%ed * Frros® eodILond B
$808B8e0 FBIO ©rHo?

T*FTE2*¥1=12

)x -+ 2) + - x

3)x -+ 4) + X -

Two man start walking from one point to-
wards opposite direction. After walking 3 km
stright they both turn right wards and walk
siraignt for the distance of 4 km. How far thay
both from each other ?

BE% Hghen a8 o wod $580e BIoS® 3
8.&. &r8o I&DI Sod 8g8 HgEen
HEIHSH 86A 4 8.D. ErBod (HASeBod
B K:éaegﬁgeééweéa DBHE I, wond & Elale
e &Y (HBS0 Ko Erdo dod?
D8km 2)7km 3)9km 4)10km
Radha remembers that her father's birthday
is after 16th but before 21 st of March, while
her brother mahesh remembers that his father's
brithday is before 22nd but after 19th of
March. On which date is the birthday of their
father ?

TS & Bolé GnE) e S0 50 16 SoxE
50 K8 21 8 Bwodore eER HBERE. T
g BB 900 S5 @S Sol& o)
200 LBy 22 Swodre =) S8y 19 Soxd
S HEHB. @ 78 Bolf Ty esydSo

D 8% GotHd?

1) 19th 2)20th
3)21th  4)Cannot be determined
Statements:Z > Y=W < X
Conclusions : ) W <Z

1) Only Conclusion II follows
2) Only Conclusion I follows
3) Neither Conclusion I nor II follows
4) Either conclusion I or II follows

1) 880 I 8856
2) 8deo II $856
3) I, Il Bo&e $B5 =0
4) 1 oo 1153852

mHW=2

86.

87.

88.

89.

90.

10

Statements : B>A>S<I>C>L>Y
Conclusions: [)B>L IHA>Y
1) Only Conclusion I follows

2) Only Conclusion II follows

3) Neither Conclusion I nor II follows

4) Either conclusion I or II follows

1) 8500 [ 83856

2) 8deo I 3386

3) I, I Botr $83

4) I Soe 1153 =%

In a class among the passed students Neeta
is 22nd from the top and Kalyan, who is 5
ranks below Neeta is 34 the from the bot-
tom. All the students from the class appeared
for an examinatin. Ifthe ratio of the students
who passed in the examination to those who
failed is 4 : 1 for the class, how many stu-
dents were there in the class ?

28 S8K85°Q K)éé@s TR ol 3)@;36@3@
SEIS® Voo DD ol 228 FKos® Lok,
0 Egesd Hoes (8o DS BB 5);?6065
Soth HBD Sl @ HEIS® Bod i) Hod
3435 @526068 B, © S8K8S° oSt Dergien
HEES Ses> @D, © BEHBS SEZEE S
©o0d Sm&é@a@é) Eevelevey) ééé@‘s 000G ©aNd
Doege GwE) g 4: 1 Soth. ool
55388 oo 3)(3"?3686 Doggd Hosm?
1) 90 2) 60

3)75 4) Data inadequate

How many days are there in X weeks X days
o

X 85men X SPered® A SParen &0tdn?
)7x*x 2)8x

3)14x 4)7

Which year will have the same calender as
that of 1894 ?

1894 K505&)8505 OS5 DotSyo &8 (Bod
QS D6?

1) 1905 2)1900 3) 1901 4) 1909
The minute hand of a clock overtakes the hour
hand at intervals of 62 min of the correct time.

How much does a clock gain or lose ina day
()

KEEE0S° Both Swthen B8 62 HZLL
2.8 0 DEFRH WS e B SocHos®
& KBAseE0 ergorr roth B SHRED Bcdo

CHAITANYAPURI, HYDERABAD




91.

92.

UNIQUE STUDY CIRCLE, CHAITANYAPURI, HYDERABAD. Ph: 9492459622

QD0&?
80 80
81— mi 81— mi i
1) 347 un (loss) 2) 347 in (gain)
80 80
80— mi 80— mi i
3) 341 un (loss) 4) 341 Tin (gain)

Two bus tickets from city A to B and three
tickets from city A to C cost Rs. 77 but three
tickets from city A to B and two tickets from
city A to C cost Rs. 73. What are the fares
for cities B and C from A ?

A $r5850 S008 B 5158508 Both 2y @8de
%58 o805 A 585w 08 C 3588058 Kooetd
ady) @8¢e B 8O &, 77, A S8 Lo
B 3550358 Sooetsh &885e 358 L0805m A Sdsm
L0008 C J850d% 3ok B88e $8 80 Bx.
73. ®ond A 08 B 358505%,A oo& C

JHB50E B3ee $8en o8 ©Hdn?

1)Rs. 4,23 2)Rs. 13,17

3)Rs. 15, 14 4)Rs. 17,13

How many triangles are there in the given fig-
ure ?

& (8od He0s® [@avestne dogg do8?

1)48 2)60  3)56  4)52

Direction (93) : A piece of paper is folded and

93.

punched cut as shown below in the question
figures. From the given answer figures indi-
cate how it will appear when opened.

& (8ot NS (54 HeEed® ef SRS
PS Bn 865 Fohdods oHHSN aEo
230AKD. & JOHKED (580 8 HED ool =2
HoBS5w EeT DS Soxd 3)(‘35?026@30)33 & N6
D DBorr EStHS® BLoRCKoSw.

= N A s
o
q Ogo 4 ° o
1 o 2 °.,°
) obo v ) o o 4

UNIQUE STUDY CIRCLE
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94.

95.

96.

97.

3) 4)| o

d
How many minimin cuts are regacrd to cut a
cube by to 210 ideytical pieles ?

a8 03305 210 D) SoFeore Jereothtodd
SEINSTSIN) é@@ gOEXN® Jogy Dod ?

1)12 2)13 3)15 4)11

Raji starts from a place A to wards south and
reaches second place D. From there he takes
Turn towards North West and reaches point
E. From there he takes turn towards North -
East and reaches place F. From there he takes
turn towards South East and reaches place
G. From there he takes turn towards South
and reaches place H. Which of the following

figures indicates his path of Journey correctly
()

orer @0 8 A o @;?60 008 $8eo BIS®
(HsreBod D oo @;260263 DEHE T, @;;60
ool s Wdﬁn?ﬁg&ééﬁ (D5rBod E el
S(;;Séw?é: DOEI. © @5’260 008 @85 Sy
638 3D Basrdod F e ot B8 3.
So8ge & o ok e BF 3 FBSrBod
G o @;?62633?63 BEHEZK0. B0 t5ges A oN
(HsreBod H eoko 55262533263 DEHE K. 00D
@8 (DAPBoNIENI0H BIEH Jo0HoN)
Bot By Heakwed® 38 wowd Hedn d&?

: 3 v F ¥ G
B A \gE ANg[E A NG °
’ Do H - T D H Q

@ (b) (d

Society, Teacher, Student
QD&ees0, GarERsaiueD, 8)(3"56@)@»

Four positions of dice are given below. Which
leetter will be opposite to D ?
2.8 SPOE GoE) Teenrd Héadmen (Bod BEo

20A38. ®and D 3% dHH @;26068 Ko 58

(c
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98.

99.

100.

AAI&?

1 S § S 1 B v
1)D 2)A 3)B 4)C
Find the given answer figures, seleat the one
in which the question figure is hidden / embed-
ded.
(Bots B (©) sk, DLTESsw Hesned®
D Hex0s® oA G)E SR ?

.

@

(@ ® ()

Find out the number of squares in the given
figure.
& (Bob He0s® SHdHoe dogyg?

1)13 2) 14 3)17 4)18

If 100 cats kill 100 mice in 100 days, then 4
cats would kill 4 mice in how many days ?
100 Depen 100 oo $oed 100 Seren
56@26(;9}0&)3 4 enen 4 Qe 0 A
BPepen DHeéndo?
1) 1 days

3) 40 days

2) 4 days
4) 100 days

25385 AT
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101.

Assertion (A) : Vetti is work done without
expecting any returns.

Reason (R) : Land lords and dashmukhs used
to given loans to people and were collecting
Nagu interest from them

12

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)is false (R)is true

D)EaeEg0 (A) : Béé 036 A ool
8805w T HA.

& (R) : giregionen KrBaso BES0nden
Beo Herer s@Hard O T8 as
0 508 THHBE Sdren DR,

1) (A) %080 (R) &0 Botd a@dH0 SoBasn
(R)(A) % $636 D55e

2) (A) S8 (R) en Botdh ad%0 520 (R)(A)
& $OTS DSBes K

3) (A) 550 (R) eomessn

4) (A) @aessn (R) assn

102.Assertion (A) : Begari is also like Bagela.

103.

Begaris were exploited with benifit of many
paisa.

Reason (R) : In 1911 Mir Osman Alikhan Is-
sued farmana banning Begari

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)1is false (R)1is true

B0 (A) : BKO ST aPRer Gotnod.
038 o ($Bredos® Brbeo &288
B,

D (R) : w80 5000500 T8 grerer)
(Do B gTes &8 ISt [Feahadod.

1) (A) %080 (R) &0 Botd a@dH0 SoBasn
(R)(A) & 563 D55e

2) (A) 8o (R) en Botd ad%0 =20 (R)(A)
% HOTS DSBee o

3) (A) &350 (R) o050

4) (A) oa35850 (R) ard58m

List-1 List-1I
A)Kingdom 1) Sultan
B) State 2) Tarafdar
C) Sircar 3) Foujdar
D) Paragana 4) Tahsildar

1) A-1, B-2, C-3, D-4
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104.

105.

106.

2) A4, B-3, C-2, D-1
3) A-2, B-1, C-4, D-3
4) A-3, B-2, C-4, D-3
28HBHK0?

edze-1 edze-2

1) SoerS
2) #8506
3) PReE
4) e‘éa’w%esgs
4

)] o350

&) m@o

) éc°2§

&) HBKese

Nm1, "2 d%, &
2)m 4, 3, d¥, &
3Im2, 1, d¥4, &
4)m3, "2 dv4, &
Consider the statement.

1) Abdullah qubub shah came to the throne
at the age of 12

2) Abdullah qutub shal mother hayat Bagsh
begam ran the affairs as care taker

3) In 1636 AD shahjahan invaded goleonda.
Choose the correct statement.

1) 1, only 2)2, only

3)1,and 2,3 4) None of the above
&(808 (HBerd0 H0KBoLSos?

1) wzper HeHhdar 12 So. édﬁ)‘(b‘\)e'i's QOB
@@%}0@&3.

2) waper Hivdar 8 Hobs g§aiko S688EMT
S5e3Poren S&ar.

3) .4, 1636 &° as®S 608 o

1) 1, Sr&ad 2) 2,87

3) 1, Bcs» 2, 3 4) Dbz

Indentiy fly the singama Nayaka-2 Title.

1) Khadga narayana

2) Hindu raya suratrana

3) Jananobba Gonda

4) Kalyana shupati

201H0TeHE -2 DB HBoSE?

1) sptér@ovoﬁ:s% 2) 8o TroHo8|Ed
3) a265°eoz) Ko 4) é%;‘gsa N
Assertion (A) : Vimalakka folk troupe is
"Arunodaya samskritika Samakhya"

Reason (R) : She was sent to jail for destroy-
ing the statue of kasu Brahma nanda reddy at
Jubliee hills during the separate Telangana agi-
tation.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not

1
3
3

13

107.

the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)is false (R)is true

DB 0 (A) : Qo8 PEKrD “ees S0
S*’oé@@é Doegs”

%% (R) : Do)y dirds® Ko o
[@552008BE S0 g0 @ond B8’ BendH
Hoard.

1) (A) %0800 (R) &0 Botd a@dH0 SoBasn
(R)(A) & 28G0% 958

2) (A) 08 (R) en Botd ad%0 =20 (R)(A)
% HO@od DSt S

3) (A) %0 (R) omes550

4) (A) oa35850 (R) ard58m

List-1 List-1I

A) Prof. Kodandaram 1) Gummadi Vittal
Rao

B) Gaddar 2) Kodanda
Ramireddy

C) Burgula Rama Krishna

Rao 3) Venkat Rao
Khedgekar

D) Swami Rama nanda

Teertha 4) Pullama raju

1) A-1, B-2, C-3, D-4
2) A-4, B-3, C-2, D-1
3)A-2, B-1, C-4, D-3
4) A-3,B-2, C-1, D-4

23BHBHW?

epdee-1 edar-2

Q) &8, oo 1) ?ﬁ):ﬁa&& QerSTH
) K56 2) 8%50 Q0BG

2) wég@ @éaéa%&% 3) JoBerood §§§5
&) ©°58)>U°253°260(5ég 4) Hysooee

1) o-1, -2, 2-3, &-4

2) d-4, -3, 1-2, &-1

3) -2, -1, 2-4, &-3

4) -3, -2, 1-1, &-4

108.Match the following.

List-1 List-1I

A)Masooma Begum 1) The was the wife
of komaram Bhim

B) T.N. Sada lakshmi 2) She sesved as the
deputy speakar of the
assembly

C) Som Bai 3) She was the fost
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109.

woman graduate in
nizam priod

D) Vanaja Ayyangar  4) She did research
on einstecn's theory of
Relativity from Delhi
University

1) A-1, B-2, C-3, D-4

2) A-4, B-3, C-2, D-1

3) A-2,B-1, C-4, D-3

4) A-3, B-2, C-1, D4

23808050 ?

erdze-1 ePdze-2

D) Hosesoaio 1) 8580 do grds

9) B8.008. oo  2) eod) &S
BEre B V%6

3) Qezoe sPe0SE
S0BE oSz
Wéaeg&ﬁ)eg

4) 88 crHBYBE®
&)5%5 drrodod
568555 B0k

1) 2-1, §-2, -3, &-4

2) d-4, -3, 1-2, &-1

3) @-2, H-1, v-4, &-3

4) -3, -2, v-1, &-4

Assertion (A) : Bonalu is unique festival of
hindus where mother Goddess is worshipped.
Reason (R) : The process of Bonalu Festival
is called 'Ooradi'.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4)(A)1s false (R)1is true

D)0 (A) : BB HrR0T (PSS
Boorrns® Sloven grothdes @63§§@?6
DA,

Erdod) (R) : SPare H0tHi [HBoHS “assd”
©OETLD.

1) (A) 086 (R) &0 BoH @0 0050
(R)(A) % 365 55e0

2) (A) £8a (R) en Botd a0 =20 (R)(A)
& OGS DB o

3) (A) 350 (R) e0aedsssin

%) BoerdD

&) Hde2 e—po‘ioéomg

14
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I11.

112.

4) (A) warsssn (R) aeissm

Match the following.

List-1 List-1I

A) Saddula Batukamma 1) Curd rice
B)Vennamuddala Batukamma 2) Butter
C)Alukula Batukamma 3) Boiled lentils
D) Engilipula Batukamma 4) Brokon rice

1) A-1, B-2, C-3, D-4

2) A-4, B-3, C-2, D-1

3) A-2, B-1, C-4, D-3

4) A-3, B-2, C-1, D-4

2BHBHXIW?

edze-1 erdze-2

D) éc‘f)ca)ea a)ééoééa& 1) 2% @926&0

) 39 écocgea eaéaé:ﬁa& 2) 3

) ©étndHe eaééaézﬁaé 3) &880 BN

&) 00O Hro aaééoé?ﬁa& 4) Jdoeden

1) 9-1, -2, -3, &-4

2) -4, -3, d-2, &-1

3) ¥-2, -1, d-4, &-3

4) d-3, @—2, d-1, &-4

Which of the followin factors influence the
demand side of a connodity in the market ?
1) Income of consumers

2) Prices of factors of production

3) Changes in Prices of substitute goods

4) Number of consumers in the market
Select the correct answer using the code given
below.

1)1,2,and3 only  2) 1,3 and 4 only
3)2,and 4 only 4)1,2,3,and 4
8o TBE® D sPsren OIS’ $%H B
850l 3 (BerdBo IJow.

1) DABeriTedhe emedho

2) 688 P8vre Fen

3) @@52631&0‘53 Sde 58S Soedy)en

4) $rB5EPR QIErKTEGe Sogyg

1)1, 2 8a%» 3 2) 1, 3, &bodw 4
3) 2, dciw 4 4) 1, 2, 3, 0850 4
Which of the following pairs is / are correctly
matched ?

Type of income Description

1) Real Income Income calulated af
ter factoring inflation

2)Nominal Income  Income adjusted for
depreciation

3) Personal Disposable
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113.

Income 4) Private Income of
ahousehold after de
ducting tax liabilities
and other non-tax
payments.

Select the correct answer using the code given
belwo.

1) I and 2 only 2)2and 3 only

3) l and 3 only 4)1,2and 3

Bob QS® HB KB 2SBLBSE0H?

ETnsloviloNel<le) DXBes

1) Quapd woeaho - (BSgepeos® se8%o
TP S eTeoHo
5%&06@&06&0&

2) P08 sTeoho — SBirdhiie &80
Elnlovwle) éégaﬁém

BcHad&od
3) é&%ﬁé DIBRIEH - Dy eméege‘éoa
HESB esTecho Selovgytalitet
FS-¢rE) BRIS
Board 8K

STrco BOoHed
s BEI eB@PA0D IBD BIrEebdven
DoHetos?
1) 1 Sodasw 2 2) 2 0B%» 3
3) 1 dcsw 3 4) 1, 2, 060» 3
If the Reserve Bank of India (RBI) conducts
"Long Term Repo Operations (LTRO), what
will be its most likely implications (s) ?
1) Liquidity in the banking system will de-
crease.
2) Short-erm market interest rates would in-
crease
3) There may be a more effective transmis-
sion of monetary policy action.
Select the correct answer using the code given
below.
1) 1,and 2 only 2)2 only
3) 1,and 3 only 4) 3 only
Besd erg08 ©d) ®oddie eroh &) 3’
©50%S) (LTRO) Q8328 9 asthiherot?
1) ajtgoéoﬁ 265252863’3 RN e‘éﬁgééoo&
2) S8 S B)esS® $&Tey Srpaean
3) (8555 D By BooE) 0B (3875 HoBZD
(Do GokD)
s SGod eS@rAod KBS Sirgeard)
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114.

115.

116.

DoHEE s ?
1) 1 &850 2 2) 2, S
3) 1 8% 3 4) 3, SeEB0

Recently in news Operation Breathing space
is.

1) A program to develop an all-weather air
defense system

2) An India - Israel multi-pronged mission on
the COVID-19 response.

3) Amilitary exercise between India and USA
in Pokhran range.

4) A health programme for people suffering
from silicosis.

2dso TS eB8AS B8R B ©sss

1) FPeeHGeToSE ), Bgea zéegéé?é) @@&6@%
FD syt

2) grE8ETo - BEPHS BITVENE WRS
IE-19 (D808

3) MWlgrS H06S° rBSEEo HHBWH WO
305y 2T agadeio.

4) 298558 ePEHBHY) Ko g%0 a8
@8sﬁ§ o8E0.

Which among the following is a characteristic
of laissez faire economy ?

1) Lack of government intervention in the
economy

2) Distribution of goods as per the needs of
the society

3) Provision of mini rum wages for all

4) Community awership of the means of pro-
duction

Bob &St BRE Pond ISPHDH ©Feeo D6?
1) e—sgé ééégéﬁ (gbee é’sééo SE¥SK0

2) odJTeed drbeorr ddresod SQHe
H0ed

3) ©0%88 8O% SETren wodosEo

4) ©d8re LT E0g0E “Dé&o‘ﬁao
Consider the following statements regarding'
Gold Hallmarking'in India.

1) Hallmarked gold jewellery will only be avail-
able in 18 carat and 22 varats grade in India.
2) It is mandatory for consumers to get their
old jewellery hallmarked under new guide-
line.

3) The violation of the Gold Hallmarking pro-
vision will attract monetary penalty.

1) 1,and 2 only 2) 1,and 3 only
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117.

118.

3)3 only 4) 2, and 3 only

Evle i Tnk-feYoK ﬁsega’?eg SoeB)0h Howokod (od
(D850 HBKBoBoR?

1) &S 18, worrd wgbemren rostdos
18 sogBy B 22 S95BEy BES® &m(@d
0oerens® gotrow.

2) NBreiTeden EH FE wPderod &Y
BE& 8o S Kr8), Babiso S50

3) ﬁseé 5o 257062705 (S8 RwE) SYOFHD
(65555 2T &8GO8,

1) 1, 8w 2 2) 1 HBcsw 3

3) 3,57 4) 2 $80%w 3

With respect to Economic Market', the terms
'Forward Premium’, spot rate, forward rate
Agreement are associated with which one of
the following securities instruments.

1) Debt Securities

2) Future Trading of Currency

3) Exchange - Traded Funds

4) Initial Public Offering of a company
DETPE £0°8)¢58 Howohod), @%(5?, Boaso
“NE50ES” “@%{@3&5” oAD0S ©F Hueen 8od
Ee08 LTS BIE etvnodosarron?
1) S H@een

2) éBfD‘J o) ?’.3)2358 &&ohR

3) cD'siDoé - Bc& &)

4) 8029 So8), (B0 HYE wHd

Match the following.

Terms

A) BEAM by Bombay stock exchange

B) Kasturi Cotton

C) Shaphari

Description

-Certification scheme for aquaculture prod-
ucts

- Brand and logo name for Indian cotton

- E-spot market for agricultural commoditiies
Which of'the pairs given above is / are cor-

rectly matched ?
1) 1,and 2 only 2)3, only
3)2, only 4) 2, and 3 only

8od 80 Jeodde HBKdoLol?

Qaxosden DHBes

1) BEAMZ3 &Poezran - esEed ed e

T JBoF é@ﬁ)ééaa S58o

2) §670 So6S - grEBH H8S (erof
S8k S D%
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119.

120.

- B-INE ST
8530 HgHRad Sthtdren
2% 2@ ados® $BI6?
1) 1, $85 2 2) 3, S
3) 2,8m(ad 4) 2, B85 3
Consider the following statements regarding
fisheries sector.
1) Inland fisheries are fully managed by state
governments in India.
2) Fisheries sector in India contributes more
than 2- percent of agricultural GDP.
3) Recently, India was exempted from sub-
sidy band on fisheries under the WTO's spe-
cial and differential treatment (SDT), based
on gross natinal income (GNI) thresholds.
Which of the statements given above is/are
incorrect.
1) I and 2 only 2) 1 and 3 only
3)2and 3 only 4)1,2and 3
&y BorrldE Ho05od (Bod (HELIOD
HBKBoBol?
1) 6Sé§e>eg Hodyg HoHES oot Tn L (eToM) o
@@@503 PO ABEToStHE00.
2) gr8SEIos® So&gorio HgHrad &S
20 @&0 ol BN &85 e558806
3) aéie grBscgo o e80H errabo (GNI)
8o wgrdorr WTO &) (5858 $rbasw
05500 D88) (SDT 8o & Sodsp $a)E
Do L0008 WSFBonoSnBob.
1) 1, XoBoiw 2 2) 1, Sobc» 3
3) 2, B 3 4) 1, 2,580% 3
Consider the following statements regarding
fertilizer subsidy.
1) Retail prices of all non Urea Fertilizers is
fixed by the government
2) Subsidy to Urea is directly provided to
farmers in their bank account.
3) Nobody can purchase more than 100 bags
of fertilizers in one crop season
Which of the statements given above is/ are
incorrect.
1) 1,and 2 only 2)3 only
3)2 only 4)1,2,and 3
AP INEE Sowohod (Bod (HEedeo
HBKBoBol?
1) GHrBcie GHEE MrHoQoB8 8BS HBen

(980&0 TP K)gowoéaacsgow.
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121.

122.

2) ChrBAsrE $EYE Ftorr BB 8 eyt
PPT° ©Oo0WBLE0H

3) 28 H0e 008t dHen NS5EE 100
er5oBe So& NN Eften FoHss

25 a3 ?58655305@65 6?

1) 1, 08050 2 2) 3,57

3) 2, (D 4) 1, 2, Ho8co 3
Consider the following statements with refer-
ence to public private partnership (PPP) mod-
els.

1) Under the Build Operate Transfer (BOT)
modal, government completely finances the
project.

2) Under the Engineering, procurement, and
construction (EPC) model the private sector
partner completely finances the project.

3) Under the Hybrid Annuity Model govern-
ment provides 40 prtcent of the total project
cost.

Which of the statements given above is / are
correct ?

1) 1, only 2) 1, and 2 ony
3)3, only 4)1,2,and 3

S8 (RIS FEIE a8 (PPP) Irsdos
B020050D Bod ?3&)6330&'5_@263 HBKBoL0&?
1) 9§ e308S (@36 (BOT) Srad
§oc5,@°£§e%s’o Bodo Fpdre Jgoen
B BOETBER00.

2) n02:D80R/, @f’éroéga)oéb: KB 88 @éﬁ
eSS (23 56 FPSE @rE5s o
1) 1, &85 2) 1, 8050 2

3) 3, S 4) 1, 2, &80 3
In the context of 'Balance of Payments',
Which of the following components form of
the current Account.

1) Goods

2) Services

3) Foreign portfolio investments

4) Income from financial investments

5) Current Transfers

Select the correct answer using the code given
below.

1) 1,2 and 5 only 2)1,2,4and 5 only
3)3,4and 5 only 4)1,2,3 and 4 only
BYoD TR 260663)0@3‘5 800 AE® D grrren
EBotn grard ddredorr sotran?

1) $509e0 2) DSen
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123.

124.

3) DB DKy VO DegaHen

4) 688 Depathe T By eweaho

5) (5% 20 e

aQ)d 6D eIBrA0D IBY SIPEeIeR)
DoHEod?

1) 1, 2 805 5 SoEad

2) 1, 2, 4, 06050 5 S5

3) 3, 4 8050 5 S

4) 1, 2, 3 58w 4 $oo(&D

Consider the following.

Index Released by

1) Export preparedness 1) Ministry of
Index Commerce, Govern

ment off India
2) Financial Indusion 2) Reserve Bank of

Index India

3) Logistic Performance

Index 3) World Bank

Which of the pairs given above is / are cor-

rectly matched ?

1) 1, only 2)2and 3 only

3) 3 only 4)1,2and 3

(Bod QY HBKBoPoR?

JrDE DHGe Fohadobd.

1) 279508 JodZS - AR ©& 5°08)

PSVLIALS] [\ ICT
B0&A®

2) ©0% J08 KD - ety evgo8
B0&A»

3) @&%’85 BB S0 - (HHoS ERIGISY

1) 1,885 2) 2 0B 3 S(BD
3) 3,5;(Sad 4) 1,2, 85 3

In the context of fiscal management, the term
'Primary Deficit' indicates.

1) The interest payments made in last finan-
cial year.

2) The revenue deficit along with interest pay-
ment in last financial year.

3) The market borrowings of the government
minus interest payments.

4) The difference between the government's
total expenditure and total income.

@88 Leen 606563)068 (@EE Shew oI Hso
ESPLATSHoTaYs

1) 58 «88 SodEos® % $& 3RodHen
Jod& o
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125.

126.

2) éé@s Foido)) BOg S 5 @gé éoéﬁé‘géo@‘s
30D

3) ($ehso BwE) 26?827&5 Boegeen PSR Zéé
BDoHen

4) (Dgh& Indo PLY) 0O InFo eTEaho

3gB000

Consider the following pairs.

Type Feature

1) Chronicpoor A person who is poor
for most part of his life

2) Usually poor A person who is rich
but may sometimes
move below poverty
line.

3) Occasionally A person who is poor

Poor but may sometimes
move above the pov
erty line

4) Churning poor A person who regu
larly move below and
above the poverty
line.

Which of the above pairs is / are correctly
matched ?

1)1,2,and3 only  2)2and 3 only

3) 1 and 4 only 4)1,2,3and 4

Bod 80 HBKBoNSos?

1) 8808 8 - 85 EdFos® s
gRK0 BB

- $3%0&H 520 Q)
F @6&533;3 BHBD
&0 %8

- 2B = Y
P (g T
oD 37) H8

- (B0 EHBoone
BB BIHDS
B0 P8 37 ¥53
[0 23883083 @ &?

1) 1, 2 8csw 3 2) 2, SHB3w 3

3) 1, Sndcsw 4 41,2, 8,4
Assertion (A) : In the human body, the liver
has an important role in fat digestion.
Reason (R) : Liver produces two importent
fat-digesting enzymes.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Jedes DS

3) OFPEIPED D

4) 66&05 58

18

127.

128.

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)is false (R)is true

D@)Bargg0 (A) : 58 Bsos® so8aho e
S5 8oSTH0m S D00

&HH (R) : s080%0 Botd Lo0gg e BP0
$0 T oo e IKob.

1) (A) %086 (R) eo BotH a@do H8050
(R)(A) & $650% 586

2) (A) S8 (R) en Botd ad%0 520 (R)(A)
& BOGHD DHSE S

3) (A) a=%%0 (R) oaedssm

4) (A) oxs55 (R) avgs80

Scratching eases itching because.

1) It removes the outer dust in the skin.

2) Itkills the germs

3) It stimulates certain nerves which direct the
brain to increase the production of
antihistaminic chemicals.

4) It suppresses the production of enzymes
which cause itching.

P50 So B8 Brp&ood s°8es0.

1) 86 $B)08° 2ch Xyt Sonob.
2) 88 (80eB05)E0d

3) 3B oSrod SrfE SahTre &EB
oS8 DB HPod &R Soredd
(3208.

4) 96 HBEH SBEHAD; ISEDHO GH

©BDI008.

Match the following.

List-1 List-1I

A) Gonads 1) Insulin

B) Pituitary 2) Progesterone
C) Pancreas 3) Growth hormones
D) Adrenal 4) Cortisone

1) A-3, B-2, C-4, D-1

2) A-2, B-3, C-4, D-1

3)A-2, B-3,C-1, D4

4) A-3, B-2, C-1, D-4

238HBHN0?

rdee-1 ePdee-2

Q) K& 1) a5098

&) Seargend 2) @=Qo°R

) Jrol@asrn 3) °& PGS
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129.

130.

131.

&) &3S

1) A-3, B-2, C-4, D-1
2) A-2, B-3, C-4, D-1
3) A-2, B-3, C-1, D4
4) A-3, B-2, C-1, D-4
Assertion (A) : In human being, the females
play amajor role in determining the sex of the
offspring.

Reason (R) :Women have two 'X' chromo-
somes.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4)(A)1s false (R)is true

D)0 (A) : 5P3HAS SozeSo BwE),
dorrd) R)gowoééoés BENTE (SRS P
DB

s (R)

(&5 ReesBimenotran.
1) (A) 086 (R) &0 BoH @0 0050
(R)(A) % 365 5560

2) (A) 58 (R) e0 Botd a0 =2 (R)(A)
& 9O DdBew o

3) (A) 350 (R) eoaedsssim

4) (A) 3550 (R) ardd&m

Sumgenesis means union of.

1) Anthers 2) Stamens

3) Filaments

4) Androecium and Gynoecium

20BIVD @08 rIoHS wH?

4) svgﬁ‘SS

B eos® Dok X

1) ®0%5) 2) Edoeen

3) HoeHhHen

4) @o@sﬁldﬁao KB 558%10530

Match the following.

List-1 List-1II
A)Pleistocene 1) Mammals

B) Placocene 2) Human genus
C) Permian 3) Invertebrates
D) Cambrian 4) Frogs

1) A-2, B-1, C-4, D-3
2) A-2, B-4, C-1,D-3
3)A-3, B4, C-1, D-2
4) A-3, B-1, C-4, D-2
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132.

133.

134.

28N I0?

epdee-1 edar-2

Q) HREDS 1) &8oren

8) POTTDD 2) SoedsHen
%) 336&0‘535 3) e¥3seen
&) éo@o‘d)ﬁ 4) E8yen

1) -2, -1, 2-4, &-3

2) -2, -4, d-1, &-3

3) 2-3, -4, d-1, &-2

4) 9-3, -1, d-4, &-2

Consider the following statements.

1) Dengue is a protozoan transmitted by mos-
quitoes

2) Retro- orbital pain is not a symptom of
dengue.

3) Skinrash and bleeding from nose and gums
are some of the symptoms of dengue.
Which of'the statements (s) given above is /

are correct?
1)1 and 2 2)3 only
3)2 only 4)1and3

Bod (HEeI HBKBoSoR?

1) Borey 936 & Txoe aeB) Bod Rieferae
a°§§5.

2) g - e—sgéoé: S8 Qo @) ©Feeo
50

3) SBP BEy DO Ewky, ALY Hod
880 se8€0 Gorry oFeaen

1) 1, 8050 2 2) 3, oo

3) 2,8m(ad 4) 1,580%0 3
Which of the following are the primary con-

sumers in an ecosystme ? Select the correct
answer from the codes given below.

1) Ants 2) Deer

3) Fox 4) Tiger
1)1,and 2 2)2,and 3
3)1,2,and 3 4)2,3,and 4

o e’ Soogssen éééé& (P g
AIFBeriTeoen SE?

1) 1, 80 2 2) 2, o8d%» 3

3) 1,2,5080m 3 4) 2, 3, 6 4
Whih of'the following set contains only am-

photeric oxides ?
1) ZnO, PbO, SnO, ALO,
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135.

136.

2) ZnO, BaO, SO,, CO

3) CO, PbO, BaO,, SO,

4)P,0,, N,0,, CLO,, BaO

Bobd S° DB woPkedE wg)Eots 507 &

0td0?

1) ZnO, PbO, SnO, Al,O,
2) ZnO, BaO, SO,, CO
3) CO, PbO, BaO,, SO,

4) PO, N, O,, CLO., BaO

List-1 List-1I

A) Cracking 1) Rubber

B) Smelting 2) Petroleum

C) Hydrogenation 3) Copper

D) Vulcanisation 4) Edible fats

1) A-3, B-2, C-1, D4

2) A-2, B-3, C-4, D-1

3) A-2, B-3, C-1, D4

4) A-3, B-2, C-4, D-1

2BHBIS0?

edze-1 erdze-2

) (se80h 1) S

8)) 8BA0SEo 2) 33@3’58)6630

) 3rEINS 3) oA

&) SoIBRS 4) BBBAS EHgeo

1) 9-3, -2, -1, &-4

2) -2, -3, d-4, &-1

3) 2-2, -3, d-1, &-4

4) 9-3, -2, d-4, &-1

List-1 List-1I

A) CNG 1) Carbon monoxide,
Hydrogen

B) Coal gas 2) Butane, Propane

C)LPG 3) Methane, Ethane

D) Water gas 4) Hydrogen,
Methance, Carbon
monoxide

1) A-2, B-1, C-3, D4

2) A-3, B-4, C-2, D-1

3) A-2, B-4, C-3, D-1

4) A-3, B-1, C-2, D-4

2BHBIS0?

eze-1 ePdge-2

d) CNG 1) 288 385,
S

) §86ﬁ°§5 2) w§€§5, oS

) LPG 3) DBS, SES

&) e8 mgR 4) &S, HBS
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G0 Irg)E
1) -2, -1, -3, &-4
2) -3, -4, 2-2, &-1
3) -2, -4, 2-3, &-1
4) -3, -1, 1-2, &-4

137. With reference to ionic compounds, consider

138.

139.

the following statements.

1) Ionic compounds are insoluble in alcohol
2) Ionic compunds in the solid state are good
conductors of electricity.

Which of theses statements (s) is /are correct
9

1)1, only 2)2, only

3) Both 1 and 2 4) Neither 1 nor 2
Bod '%35530(‘5@?63 HBKEBoL0&?

1) @058 éﬁ)&%‘@@o @@&Kﬁé@g 88155

2) D ?g@és &) 358 éé}ééwen K0

DS aesEeen

1) 1, &3 2) 2, S

3) 1, L805» 2 4) Dbk

Who invented rechargeable battery ?

1) Volta 2) Gaston Plante
3) Daniel 4) None of these

PHIBIRNBRA SSISAS eaﬁegéoéi) DEo
ST ?

1) Sep 2) %S apod

3) TS 4) X8> 52

Which one among the following statements
with regard to pH secale is / are correct

1) Itis alogarithmic scale.

2) The scale is limited to 0-14 because the
ionic product of water is about 10

3) The lower the value if pH, the greater is
the acidity of the solution.

Select the correct answer using the codes

given below.
1)1,and II 2)1,2,and 3
3) 1,and 3 only 4)2,only

PH 208 So20809 Bod J&DoTes® O
3838 ?

1) a8 JoSEEIPS ($H:reso

2) 38 ©cirdE 6&)8 oo 107 eomd
?ogpa 0-14 & 58S Fohadod

3) pH Dend Do éé)&ém &08 @0 @éogyzé
SE0 SoHD
1) 1, o8cm 2 2) 1, 2, 8% 3
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140.

141.

3) 1, 5Bck 3 4) 2, $rBHRD
Graphene was in the news recently. What is
its importance ?

1) It is a two - dimensional material and has
good electrical conductivity.

2) Itis one of the thinnest but strongest mate-
rials tested so far.

3) It is entirely made of silicon and has high
optical transparency

4) It can be used as conducting electrodes
required for touch screens, LCD s and or-
ganic LEDs.

Which of the statements (s) given above is /
are correct.

1)1,and 2 2)3 and 4
3)1,2,and 4 4)1,2,3,and 4
™S adde 8 20208, o (a0
AE?

1) 18 3ok Q@)sé‘g:éé: Kamgo KB Hod
DS TES EOA Goenod.

2) 38 aéo)éfj S8 a’nééoiéea&é 08508 )
A% =R oS T W8S

3) @0 O OIS Scsrd Bohadod.
B Y eQES PBLEGESED EOA eotnob.
4) &5 @0&503, LCD en $8d5» @03505 LED
0% OIIEDS BotkBoh AoE e HI &
DBPAOBIE).

? RDofos® 6 $6 T¥?

1) 1, o8csw 2 2) 3, ndcsw 4

3) 1, 2, nBcsw 4 4) 1,2, 3, 08cw 4
Consider the statements.

X-rays

I) are not electromagnetic radiations

II) are electromagnetic radiations

IIT) have longer wavelengths

IV) have shorter wavelength

of'these

1) I and III are correct

2) I and Iv are correct

3) Il and IV are correct

4) Il and I1I are correct

(D8ed0 HBKBoLoE? X — 8besren

1) Scﬁaéc‘ﬁdiaﬁ"&oé D8Bezren 5080

2) Scﬁaéc‘ﬁdiaﬁ"&oé QD8Begren

3) PE3S Sdorf Foged EOA Goerow

4) éééo&zé SB8on qa_qéﬁgo 8OA Sotrd.

1) 1, 80w 3 2) 1, 065w 4

21

142.

143.

144.

145.

3) 2, Hdosw 4 4) 2, b 3
Consider the following statements.

1) A flute of smaller length produces waves
oflower frequency

2) Sound travels in rocks in the form of longi-
tudinal elastic waves only.

Which of the statements (s) given above is /
are correct ?

1) 1, only 2)2,only

3)Both I, and 2 4) Neither 1 nor 2
(Bod (HBeSO HBKBoPoR?

1) 98 &r&H He Seod) B8NS S5
Borrod &8 Tnob.

2) &R @%é‘s Berod Fn SSorre ErHost
Sl (HSTB00

28 a)d JDoes® Db $BX6?

1) 1,883 2) 2, S

3) 1, Hodcsn 2 4) &z

Which one of the following is not radioactive
17

1) Astatine 2) Francium

3) Tritium 4) Zirconium

Bod SR DB &G GO Hrgo s°ed
1) @5}5&35 2) (a°Qyc%o

3) B&ocho 4) &85&(‘00‘630

Aball is doropped from the top of a high build-
ing with a constant acceleration of 9.8 m/s”.
What will be its velocity after 3 seconds.
1)9.8 m/s 2)19.6 m/s
3)29.4m/s 4)39.2m/s

9.8 /2" HEDI &Beos® HBD &HKoP
5008 2.8 208 FcHadIB. 3 DEY oS T
350 Dos?

1)9.8 m/s 2)19.6 m/s
3)29.4m/s 4)39.2m/s

A man holding his hand over a furnace re-
ceives heat by.

1) Conduction ony

2) Convection only

3) Radiation only

4) Partly by convection and partly by radia-
tion

£ Jow BenEoR) B5E 382 86A
DPotHETE sedeso.

1) T5PEE0 Sl

2) Lo BYHHB

3) DEGHAS S8
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146.

147.

148.

149.

4) Pgsore vy (HHSw HOE FELorr

BEAHBS woe

Farad is the unit of.

1) Resistance 2) Conductance
3) Capacitance 4) Inductance
HTERNE) e

1) 8?0':85“) 2) éotﬁé%{g

3) 3@%&5{3 4) aocigg

When TRS party was formed in 2001, who
among the following had allowed to use his
hourse as party office ?

1) Doctor Mallikarjun

2) Doctor M. Chennareddy

3) Konda Laxman Bapuji

4) Sridhar Reddy

20018° &.65.98. F§ ©IEDoASHPL &
Bobd TRE® DL 5 208 F§ sPTgeEorr
SHRPA0DHEI0HE ©LHBoTE?

1) & 595°HS

2) &, B BIYBE

3) Fome oF® e

4) 85 38

The first Chief Minister of the Hyderabad
state ?

1) Burgula Ramakrishnarao

2) K.V. Rangarao

3) A. Kaleshwar Rao

4) N. Sanjeeva Reddy

rTrerd ooy 879 Loggiol@ HX8?

1) e ToRE)LT°D

2) 8.9. Borrors)

3) Q. 8K

4) 58, HodEo8

Which of the following is correct ?

1) Chief Minister of Hyderabad - P.
Ramakrishna Rao

2) President of Hyderabad state congress -
J.V. Narsinga Rao

3) President of Andhra State Congress -
Alluri Satyanarayana Raju

4) All are correct

Bod QS KBTS HB?

1) Tsoeerd Soggsool® - mzﬁ:ée)a%m@

2) r&Teerd o8 oB0 eiH - 2.Q.
Rervlolaei )

3) wold org sPo(S ©FgEc word

UNIQUE STUDY CIRCLE
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150.

151.

152.

153.

Q&g TeaeaTres

4) BB $TS

On which date, Girglani committee submit-
ted its first report ?

1)2000 June 25th ~ 2) 2001 October 6th
3) 2002 October 9th 4) One

ABE BB S5 Isd 08 d BED
30810 D0H?
1) 2000 =8 25 2) 2001 o828 6

3) 2002 @gfaas 9 4) 2,88

Who was the convener of Telangana Forum
()

1) Marri Chennareddy

2) Jana Reddy

3) China Reddy

4) Uppunuthala Purushottham

Boorre §80 QR0 SH?

1) (0 3288

2) e B

3) O3 B&

4) &pdrse HHAPS0

Name the Hyderabad Mayor who laid the

foundation for Gunpark in Hyderabad ?
1) S. Lakshmi Narayana

2) Ramachandraia

3) Sridhar Reddy

4) Sadalakshmi

TETErEE KRG, D8 S DS JBH?
1) d%. @%@U"o‘ﬁas@ 2) oesSo(Eadyg

3) %6 & 4) Sorof)

In 1950, the Mulki Movement had become
problem between.

1) Deccan Muslims and North Indian Mus-
lims

2) Andhra Hindu Employees and Telangana
Students.

3) Deccan Muslims and Hydeberabad Hin-
dus

4) Andhra Muslims and Telangana Muslims

19508° éwé)gr &g & (oh T Hod
ISleNtetas

1) éé&ﬁ SooQoen 0O 8 grdE Snjoen
2) 80§ 3roth 1%65?32%@ 0B Beorres
Z’Qm?gt%@o

3) $58)fs SoQoen SHBAW TRETERE SPohi)en
4) S0 S0Qoen DB BLOoTPE LSNVOE

CHAITANYAPURI, HYDERABAD




UNIQUE STUDY CIRCLE, CHAITANYAPURI, HYDERABAD. Ph: 9492459622

154. Assertion (A) : On February 13,2014, Cen-

155.

UNIQUE STUDY CIRCLE

tral Home minister susheel Kumar shinde In-
troduced the Tellangana Bill in Lok Sabha.
Reason (R) : At this time the lok sabha was
ddjourned as the house was in commotion
due to pepper spraying by vijayawada mp
Lagadapati Raj Gopal.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)is false (R)is true

B0 (A) @ D@0 13, 20148 Sol®
205008 K08 K58 2106 Beorees Ao
SE556° (S TDp.

D (R) 18 8500908 Dascharss 690.8.
oREFE TraitrS 1HG R) SeKos® K¢t
Ko8ER %0 JoBSLos® &8EXE sronme HEoB.
1) (A) 080 (R) eo Bod ardHo Sodaiw
(R)(A) & 5650 955e

2) (A) 58 (R) e Botd a0 =2 (R)(A)
& BSOS DSBes S

3) (A) 350 (R) eoaedsssim

4) (A) 3550 (R) ardd&m

List-1 List-1I

A) 04-02-2010 1) Discussion of
Freezone in Assembly
Resalution, Passed
for the removal of
14F

B) 18-03-2010 2) Political JAC or
ganized roadside
cooking on all Na
tional Highwaya

C) 10-03-2011 3) Komarm Bheem's
statue unveiled on
tank bund

D) 05-10-2012 4) Million march on
Tank Bund was a
grand success

1) A-1, B-2, C-3, D4

2) A4, B-3, C-2, D-1

3) A-2, B-1, C-4, D-3

4) A-3, B-2, C-1, D4

QBHBIS0?

-1 -2

D) 04-02-2010 1) @208 Soxsos®
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156.

157.

$&°S 2 8 14F
&ohosso 8o
eJrdosadod.

2) oz JAC
PBH B Hobd
-8 DBEroDod.
3) &r50® o0&
FHsodo B
SIS elebulen

4) ¢3508 erof
DELTPoNDS DODS
5520 D2AHBH0EZHB.
1) o-1, -2, 2-3, &-4

2) d-4, -3, 1-2, &-1

3) -2, -1, 2-4, &-3

4) -3, -2, d-1, &-4

Consider the statemets

1) On 7 February 2014 the central cabinet
accepted the Telangana Bill, Accepted by the
GOM.

2) February 11, 2014 - six congress mps who

introduced no confidence motion against the
union Government in Lok sabha were sus-

8) 18-03-2010

) 10-03-2011

&) 05-10-2012

pended.

Choose the correct statement

1)1, only 2)2, only

3)1,and 2 4) None of the above
Bod S O (HELSe grBEEEs® SO0
Qo) &0oRoTD?

1) @é&’aé’é &8 JoFde (Hsedo @@g@
BBPOLL BB,

2) & DRAPIBI® Ho20HON Lt erdered®
QB BEPR) ErTPoBOBEFIB g0t (5858
@0 God.

1) 1, S5 2) 2, Lo

3) 1, Ho8cso 2 4) Dbz

Consider the following statements .

1) Report of the first Administrative reforms
commission of India recommended the es-
tablishment of Lokpal and Lokayukta institu-
tions.

2) Lokpal is conceived as the highest institu-
tion in India to investigate corruption at higher
places in government.

Which of the statements given above is / are
correct.
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158.

159.

1)1, only 2)2, only

3)Both 1,and 2 4) Neither 1 nor 2
Bob (830 HBKBoSo&?

1) grESREH A HodareTe D0)Beae RS
AR08 SFEPS 805w SPeeaing Soge Jonen
ESEviov) Z2006.

1) SErS 0B &S ﬁ;oaoeS‘S &g
SR8 grESTFood ©BNS éo(‘gm

FrRosa&od.
1) 1, &85 2) 2,50°(85%
3) 1, S06csw 2 4) bz

The most important device of supplying power
to the judiciary to invalidate a statute in India
1s provided by which of the following.

1) The Directive principles of state policy

2) The Fundamental Rights

3) Articles 350 and 351

4) Prerogative writs

FEBR0S® 2.8 THTRY) Beyeren Bad Megore
THAOHD ©HETRY ®0008 ®BBVEHID
a0 8o IS® HB woboBn&od?

1) oog e VB8E Kvlgeen

2) (ZrPE0s SeEnen

3) ©85S) 350 A 351

4) @E‘%é a’:vésgpa

Consider the following statements.

1) Whether the expenditure is charged on the
Consolidated Fund of India or it is an amount
voted by the Lok sabha, no money can be
issued out of the consolidated fund of India
unless the expenditure is authorised by an
Appropriation Act.

2) The Rajya Sabha has no power of amend-
ing or rejecting the Appropriation Bill or the
Annual Finance Bill.

3) The Rajya Sabha has no further business
eith the Annual Financial statement beyond
the general discrussion.

Which of the statements given above are cor-
rect ?

1)1,2and 3 2)1,and 2

3)2,and 3 only 4) 1, and 3 only
Bob (830 HBKBoSo?

1) gr8sado BwE). ém&&)é@& Ho& B
DEoSd Soo SES oo° 5.8 SoHhads
SEe, K008 WEBRGHAS SGo oo
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160.

161.

162.

©HSE0 G0 &%), o8 éa?\)é)éé?ﬁ Ho& Hod
e 28 BoHK.

2) D e 5608 Soe @6627603 [Slajcitele)
O‘°23§?68}5§.‘> Siad)

3) 88 eagé ?géa Sailelc) éé&é’s (SRS
H5H0 HY S

1)1, 2 8a%» 3 2) 1, b 2

3) 2, oBc%» 3 4) 1, 08%» 3
Which one of the following committees
scrutinises and reports to the parliament
wheather the power to make rules and regu-
lations conferred by the constitution or stat-
utes is being. properly exercised by the del-
egated authority ?

1) Committee on Government Assurances
2) Committee on Subordinate Legislation

3) Rules Committee

4) General purposes committee

oresorio Bar HIPe G0 @oB0SRES
DO5STen $oB350 Jodden Er&rodod
HSE0 (DB w80 oxo° Qo esven
Bohathdone Sor ©3 A Bobd Edost
D BB H$88D0N FBIoen IROH0H.

1) (5608 5o B

2) $erQIE BRJHS E0B

3) x5 KD

4) Jgrdes (HBraare S

Which of the following is a feature of the
Regulating Act, 1773 ?

1) Dyarchy

2) Federalism

3) Introduction of communal electorates

4) Greation of the office of Governor - Gen-
eral

Bod 7S° D& BrigBBoR o 1773 G
©ge0?

1) T°2350

2) 8830

3) SHESEFS £.68 BOHDHO

4) K5 23585 sPoge 00 E)Gi)é.w

Which one of the fundamental rights is also
avilable to a foreigner on Indian soil ?

1) Prohibition of discrimination on grounds
of religion, race, caste, sex or place of birth

2) Equality of opportunity in matters of bublic
employment
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163.

164.

3) Protection of life and personal liberty ac-
cording to procedure established by law

4) To practise any profession or to carry on
any occupation, trade or business

BB KEP IBBcwe Bob (D¢
&’Pé)&oé‘s 06 oHerens® sotnod.

1) Hro, 28, Heoo, oo, Boe o"g)éézé @’)3%0
errdorr REH JadosEo

2) Lo“)e;i)éﬁog éﬁe?gﬁ LSSt ﬁéﬁ?ﬁé%o

3) 540 TxRT® DT ZoHadS dgebo (Hsedo
EDBo Lrdokn Hg8KS _‘505‘\51) 88eo

4) 9B H)G 5o VS0

Consider the following statements.

1) The central vigilance Commission com-
prises a Central Vigilance Commissioner and
three Vigilance Commissioners.

2) The Central Vigilance Commission is a
multi-member body with a statutory status
3) The Committee for the selection to the post
of the Director in the Directorate of Enforce-
ment, Ministry of Finance, Government of
India is Chaired by the Central Vigilance
Commissioner.

Which of the statements given above is/ are
correct ?

1)1,2and 3 2)2, only

3)2,and 3 only 4) 1,and 3 only
Bob (850 HBKBoSo?

1) oS BBy BWHRISE oS JRB)
88006 oBosw S0 DBBR) EDHIIG &
folhieo)

2) oS DLBY) QAT S0 SLBS TrovT
IS 50¥ g% éo“g

3) gr5es @’Jai)e‘%oé‘s&) @gé éao@éﬁs St
G350 o5 ASPEE0eS® FOEE HED o
8550 BB od DEBY) A TAINS) OGSESS
€OeNO8.

1) 1, 2, $8c5» 3 2) 2, LB

3) 2, HHds» 3 4) 1, L0605 3
Which among the following is not a funda-
mental duty as enumerated in Article 5S1A ?
1) To develop the scientific temper, human-
ism and the spirit of inquiry and reform

2) To cherish and follow the noble ideals
which inspired our national struggle for free-
dom
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165.

166.

3) To uphold and protect the sovereignty,
unity and integrity of India

4) To cherish fraternity assuring the dignity of
the individual

Bobd AS° 51 @ 8PESE® DFYRES (DS
Doos® 5206?

1) %vfc\pﬁa cﬁe)éo)zéo, SedS@eardio SHBom Dwedes
SoB%w éoé&éaa K)JZ)_Q?O @é’,):ée)ég Boh&o

2) oo %80 I 8k roeerd)
(582098 °) edoyo FPlosEo Bk
©0IBoBE0

3) eSSBS FBEF0E0, 0EE HodAw
QD80 ééagoiﬁcio 0Basn B§osso

4) 58 @) B8 5853 aéb %‘@Pé@)@ﬁsﬁ)&
[aieTNotnlnte)

Consider the following statements.

1) Lakshminarayan sahu, a member of the
constituent Assembly, Criticised the constitu-
tion as a 'slavish imitation of the west, much
more - a slavish surrender to the west'.

2) Sir lvor jennings, a British constitutionalist,
called the indian constitution a "Lawer's
paradisce ?

Which of the statements given above is/ are
correct.

1)1, only 2)2, only

3) Both 1 and 2 4) Neither 1 nor 2
Bod (HEeI HBKBoSoR?

1) orezgord 38%E 285 og&@@oﬁ)m i)
ToeI50TPRY) 850 e @0BBes, Trer @éagyzé
- $8)5rJ8 ardS SPoNEHwO’ ©d
DoByowed.

2) QAR oremgon 8 96 056 BYOR) gES
ToEPFOMPRY). “T500a°ehe 80" @) HOBK.

1) 1,585 2) 2,8m(Sa

3) 1, Hodcsn 2 4) &z

Which one of the following is the correct state-
ment.

Double jeopardy means.

1) Trying two persons jointly for the same of-
fence.

2) Trtying the same person for two offences
at two different times.

3) Putting the same person on trial twice for
the same offence.

4) Trying a person for two offences commit-
ted by him in one incident.
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167.

168.

Bod QS $BS (HELS D&?

Bend ﬁ@]“@“é ©0&?

D &8 Jo°08 agdh Hg%es Socsngorr
(D& osEo

2) a8 é&éoi) Botd 33(563 ézﬁ»dﬁ:@j Bo Jored
(D& osE

3) &8 K58 a8 Jo°R8 Botd Yy Daedees”
Elslats

4) 28 [3050638° wEd D15 Bod Jocod
38 (Hab&osEo

‘Who among the following is not a member of
the committee which makes recommendation
to the president of India for appointment as
the chief information commissioner and infor-
mation commissioners ?

1) Prime Minister

2) Leader of Opposition in the lok Sabhs

3) A Union cabinet Minister to be nomiated
by the Prime Minister

4) Union law minister

Herd Sdrard EIKE Hd» Sdroed
ERIB JaseanEo 850 gr8s @@éé’éé
QR DD 8BS’ 808 FOE° D5 8geH
5°0?

1) grdsoo®

2) SERgS® (HBHE, TP AHB

3) [BTrs0l® TRTTeDSOS ol AR
o8

4) Bol&s Jeg00(@

In case of difference of opinion amongst the
chief Election commissioner and other Elec-
tion commissioners in the electio commission
of India.

1) The matter is to be referred to the supreme
court of India.

2) The opinion of the chief election commis-
sioner is final

3) The matter is to be referred to the law com-
mission

4) The Matter is decided by the Election
Commission by majority.

P58 dQBe LSognod® (Hed B EDAIE
0 388 AYPBe EWASY oty PP
Boren DEHES .

1)& QROHo s é@s?é&éé o505 ﬁgmii)é
ISvtAlent:vtabla el
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169.

170.

171.

2) Boed Ao LRSS 8 (Do B0
©O0BDIID

3) DRI & EDRIE KeDoTd.

4) & @Kldﬁav&)cl @@&é@ Koo Sverodst
DEow0B.

The powers of the parliament in budgetary
matters are covered in .

1)Article 111 to 115 2) Article 112 to 117
3)Article 114to 119 4) Article 115to 119

2GS DAores® FEWo whETTrer BokHE®
&T)00?

1) @géef 111 o0& 115 585

2) @géef 112 Soo& 117 585

3) @géef 114 o0& 119 585

4) e:‘agée'f 115 Soo& 119 585

Consider the following institutions.

1) The National Human Rights Commission
2) The supreme Court

3) The Finance Commission

4) Special officer for Linguistic Minortities
Which of these is / are not enumerated in the
constitution of India ?

1) I and 2 only 2) 1, only

3)4, only 4) 1 and 3 only

Bod SoPe HBKEBoL0&?

1) ep8cH LdD BN BMAS

2) obos*

3) pS) BRS

4) grar BED DrddedH HEE ©iw0

1) 1, 8050 2 2) 1, S

3) 4,57 4) 1, 85 3
Arrange the following hills of Eastern Ghats
in South to North direction.

1) Nallamala hills 2) Velikonda Hills

3) Nagari Hills 4) Palkonda Hills
Select the correct answer using the codes
given below.

1)1,2,3,4 2)2,1,3,4
3)4,3,2,1 4)3,4,2,1

&) Booes? o (Bobd Foreds 8o K08
688 HIES® ©HB)ol?

1) Sehe Eoken

2) IO SoXen

3) Sisd BPo&en

4) PEH0E Soen

§Co006SBrR0d DS SSrEeard)
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172.

173.

174.

DoHsol?
11,2 3,4 2)2, 1, 3, 4
3)4, 3, 2,1 4) 3, 4, 2, 1

Assertion (A) : It is very difficult to develop
good ports and harbours inthe Eastern coasts
of India.

Reason (R) : The Easterm coasts have a very
long continental shelf, even up to 500 km.

In the context of the statements above, which
of'the following is true.

1) Both (A) and (R) are true and (R) 1s the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4)(A)1s false (R)is true

dyBarggo (A) - EETE Erdy) Sored®
£,589e0 HoB%» oo @&é@% Sfoutele)
g0.

&P (R): &rdy) dored® 500 8.8, (8%
Erre wrer PESS Porrods 1) Gotwod

1) (A) 8ai» (R) en Bokh b0 Sobasw
(R)(A) % 365 5560

2) (A) 08 (R) en Botd %0 20 (R)(A)
& OGS DiSSe o

3) (A) 3850 (R) eoaedsssim

4) (A) 3550 (R) argd&m

Consider the following locations.

1) Dehra Gompas

2) Siachen Glacier

3) Rohtang pass

4) Zoji lapass

The correct order of these regions from North
to southis.

1)2,1,4,3 2)2,3.1.4
4H1,3,4,2 4)3,2,4,1

Bod @;meé& HBKEBoL0&?

1) B FPoss 2) BOSFAS BRHE
3) &%5of r& 4) &8erarS

&85 08 58 IBL (Esho EdofPosim.

1)2,1,4,3 2) 2, 3, 1,4

3)1, 3, 4,2 4) 3,2, 4,1
Which of the following are tributaries of
Brahmaputra ?

1) Puthimari 2) Pagladiya

3) Manas 4) Bhareli
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175.

176.

Select the correct answer using the codes
given below.

1) 1,2,and 3 only 2)2,3 and 4 only
3)1,2,and4only 4)1,2,3,and4
t5ges Hore ©DeHDE BHSBen?

1) S 2) (readrss

3) Lods 4) 38 Hore

JOGD 2357720 DXYE°K05w.

1) 1, 00 2 2) 2, 3, Hdosw 4

3) 1 &0dcdw 4 4) 2, 00 3

The climte and associated weather conditions
in India are governed by.

1) Pressure and surface winds

2) Upper air circulation

3) Tropical easterly jet stream

Select the correct answer using the codes

given below.

1)1, only 2)2 and 3 only

3) 3, only 4) All of the above
PESBI0S® rEedBmo 85w Koohd
FeHSn S0y SHor  ($ob T3
Qa%o(@odeatido.

1) 2,88 8k G6HdSe rreven

2) DS ed (H3Ges

3) egdoote Er8Y) B (Do

0B DEeereard) dowhE ol

1) 1, &3 2) 2, HbBck 3

3) 3, Sr@ 4) DB

Which of the following areas receive 'low'
rainfall as per IMD estimates ?

1) East of Sahyadri Hills

2)Lehin] &K

3) Interior of the Deccan Plateau

Choose the correct answer using the codes
given below.

1) 1,and 2 only 2)2and 3 only

3) 1,and 3 only 4) All of the above

IMD eosmre (Hsedo Bod &S & (@rosos®
été@”éo SIrL5)e08 ?

1) 358 Soke Erdy)

2) 85 65w J & K

3) Cﬁégﬁ 8585700 S5 (@rogo

S ho ¢D@BPA0D KB Birerard) dos s
1) 1, 6w 2 2) 2, 0% 3

3) 1, 0805 3 4) HNA
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177.

178.

179.

Why are the state of Jammu and Kashmir,
Himachal Pradesh and Uttarachal Highly vul-
nerable to eartquakes ?

1) The Indian plate is slowly moving towards
the north and north - eastern direction which
is obstructed by the Eurasian plate.

2) Most of the active volcanoes in India lie in
the Northern region of the country

Which are frequently thrusted by magma and
seismic movements.

Which of the above is / are correct

1)1 only 2)2 only

3)Both 1 and 2 4) None of the above
2dnse)B, PErSS (HAE HOAD IS
ooleped DoweE yrFodresy AEHIMT
8HBEON?

1) 88 Hedo Bzéaé&m &8% B Salg
BEOBH BHensod. HAZ HNTAIHS 0T
BEDLE0B.

2) gPEETI0SED e 8D of) 5665@03
B808* &BBaroBoS® Gayow.

B3 BB BeREH0 HBA o) EEO8e
TIO° TR0,

1) 1,585 2) 2, LB

3) 1, S0635» 2 4) 23D

Bura Chapori wildlife sanctuary is located in.
1) Arunachal Pradesh 2) Meghalaya

3) Tripura 4) Assam

2a0T° S0 Higareane) ICIREEg0 DB God?
1) eSS (HE6 2) SorecdH

3) 8HB 4) ®J0

With reference to forests in India, consider
the following statements.

1) Forest cover was greatly reduced during
world wars in India and surrounding coun-
tries.

2) In India, pockets of dense forests still re-
main, thanks to community beliefs of indig-
enous people and protection of them as sa-
cred groves.

Which of the above statements is / are cor-
rect ?

1) 1 only 2)2 only

3)Both 1 and 2 4) None of the above
FESBT IS wEHeE Somodod (8od
BEes0% $0KBoS0E?

1) gr8saEo HBED ey (HHo Beeed® (HHos
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180.

181.

182.

aSotre $3a00s° wed S0 e ERob.
2) GPEER L, S wiHeo 88 aBé
&T2)00. é(;ﬁ)éom DaxTPe 80T O
A HASS Soenre HBBZoBEO

2 REDogs® D& £33 ?

1)1, S 2) 2,8,(SaH

3) 1, Ho8cso 2 4) D&z

In which of the following areas is one not
likely to find any mangroves ?

1) Cauvery delta 2) Sunderbans

3) Andaman and Nicobar Islands
Choose the correct answer using the codes

given below.
1) 1, only 2) 1and 2 only
3) 3 only 4) None of the above

8o a8’ O ([FroBos® i wEHen EI0B
oHEo BH?

1) 5336 Gep 2) 0088 @)
3) ®0&SrS SB35 J8%erE HHen
1) 1, S5 2) 1, £Bcs» 2
3) 3, Lo 4) Dbz

Consider the following factors of soil forma-
tion and their effect on the soil.

List-1 List-1I

A) Parent Rock 1) Rate of weathering
ofhumus

B) Climate 2) Determines accu
mulation of soil

C) Relief 3) Affects chemical
properties and per
meability

1) A-3, B-2, C-1 2) A-3,B-1, C-2

3) A-1, B-2, C-3 4) A-1, B-3, C-2

28HBHIW?

erdee-1 erdze-2

D) B0t T8 1) o508 @)
TS See Bew

8)) P80 2) Jo HodBod
DG own0b

2) 6% 3) BRCcHToR

($erBo Shob.
1) 9-3, H-2, -1 2) 9-3, -1, d-2
3) 2-1, -2, 1-3 4) 9-1, -3, d-2
Acidic and low - nutrient soils can be found
in which of the following regions ?
1) Tropical equatorial forests
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2) Coniferous (Boreal) forests
3) Tropical deciduous forests
Choose the correct answer using the codes

given below.
1) I and 3 only 2) I and 2 only
3)2and 3 only 4) All of the above

Bod &S® & (@rodos® wiy HOK BLD
D858 Joen EIDIron?
1) eogzﬁaotie ai;vzéacéé By eXHen
2) ogrsed (FP0HS) EHen
3) (%B%?ﬁaoéo @é)@éb) &Hen
1) 1,5080%0 3 2) 1, SHdcs» 2
3) 2, H8cs» 3 4) 25
183.Assertion (A) : Adding limestone to the soil
frees up some of the soil minerals making them
available for absorption into the plant.
Reason (R) : Calcium carbonate content of
the limestone is capable of neutralising some
of'the acid in the soil
1) Both (A) and (R) are true and (R) 1s the
correct explanation to (A)
2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)
3)(A)istrue (R)is false
4)(A)1s false (R)1is true
D@ yBeEg0 (A): é)@% 039 TPo SeoSto
g Q) 508 aderen bl Bodhad 305e°8
5% woterens® Gotron.
&% (R) 1 ©0)00°006% Slewte 9853336’5
EoBoS HBSR o8 epEd) é&%éb@o&.
1) (A) 080 (R) eo Bok ardHo Sodaiw
(R)(A) % 283 %8s
2) (A) £8a (R) en Botd a0 =20 (R)(A)
& 9O DHBe0 o
3) (A) a550 (R) e9aed580
4) (A) 3550 (R) ardd&m
184. As per resource classification, which of the
following can be the examples of potential
resources ?
1) Uranium found in Ladakh
2) High speed wind in Netherlands
3) Dark soils of Deccan plateau
Choose the correct answer using the codes
given below.
1) 1,and 2 only 2)2,and 3 only
3) 1,and 3 only 4) 1, only
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185.

186.

RN e) éééés@ (=0 80b 8BS Q& Sogras
S350 Grrsrdeaen 5°8:%5)?

1) o&8S® £°68% awdaho

2) IB5ToES® 0o S0 Er&S Mo

3) 88 $585 S0 Seen

1) 1, X8 2 2) 2, Bc» 3

3) 1, 805 3 4) 1, S8

Which of'the following can be added to stain-
less - steel alloy ?

1) Chromium 2) Nickel

3) Molybdenum 4) Aluminum

Select the correct answer using the codes
given below.

1) 1,2 and 3 only 2)2,3,and 4 only
3) 1,2 and 4 only 4)1,2,3 and 4
Bod TVS® JonSBR- {S WESrIE DO

és&oézézﬁa?
1) Ewo%ho 2) Q85
3) 2;6?8)@260 4) ©argAcDo

1) 1, 2,580 3 2) 2, 3, 6 4
3) 1, 2, 65w 4 4)1, 2, 8,4

Match the following .

List-1 List-1I
A) Sitlej 1) Sutudri
B)Ravi 2)Asikini
C) Cheenab 3) Parusni
D) Jhelum 4) Vitasa
1) A-1, B-2, C-3, D-4

2) A-4, B-3, C-2, D-1

3) A-1, B-3, C-2, D4

4) A-3, B-2, C-4, D-1

23 BDHS0?

-1 -2
D) BEE 1) 20HB
8) oo 2) &8
2) Dl 3) 5P
&) geo 4) D85

1) 2-1, -2, d-3, &-4
2) -4, H-3, 2-2, &-1
3) -1, H-3, -2, &-4
4) -3, H-2, d-4, &-1

187.Match the following .
List-1 List-1I
A) Uttarapada 1) Toshali

B) Dakshinapada 2) Ujjain
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189.

C) Prachyapada 3) Taxila
D) Avantipada 4) Suvarnagiri
1) A-4, B-3, C-1, D-2

2) A4, B-3, C-2, D-1

3)A-3, B4, C-2, D-1

4) A-3, B-4, C-1, D-2
2380850 ?

erdze-1 ePdze-2
D) &S B8 1) &%r®
&) Sfea B 2) é%ow@
Q) [@eE0es 3) 8§30
&) 0508 HS 4) 25BN

1) 9-4, -3, d-1, &-2
2) 9-4, H-3, 1-2, &-1
3) -3, H-4, 1-2, &-1
4) -3, -4, -1, &-2

Match the following

List-1 List-1II
A) Digha Nikaya 1)24
B) Mahavastu 2)36
C) Manusmriti 3) 60
D) Milindapanho 4)75

E) Later Vedic Literature 5) 8
1) A-1, B-2, C-3, D-4, E-5
2) A-2,B-1, C-3, D-4, E-5
3) A4, B-3, C-2, D-1, E-5
4) A-5, B-4, C-3, D-2, E-1

238HBHX0?

erdar-1 -2
D) BKJESW 1) 24
8) Hoeardy 2) 36
) o0y 8 3) 60
&) oOoLSBTT, 4) 75

8) o8 S0 0&TEE 5) 8

1) &-1, 8-2, 1-3, &-4, -5

2) -2, -1, 1-3, &-4,9 -5

3) -4, §-3, 1-2, &-1, a-5

4) 9-5, H-4, 1-3, &-2, -1

Which one of the following is the correct chro-
nological sequence of the sankrit works of
Ancient India ?

1) Ashtadhyayi - Buddacharita -
Kathasaritsagara - Meghadoota

2) Ashtadhyayi -Buddacharita -Meghadoota
- Kathasaritsagara

3) Buddacharita -Ashtadhyayi -Meghadoota
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190.

191.

- Kathasaritsagara
4) Buddacharita -Ashtadhyayi -
Kathasaritsagara - Meghadoota

Bod A HB (FFDHS PSR S Do
550 BwE) BS sreEsrd FEo?

1) Q—D%‘;Q‘BO}D - awfg 308 - e HoTNE
-5t

2) @%m?gom - am‘.g 308 - HoHosrs -
S{aSteljlate]

3) 508 - eTron - Hibsrd - S
Sl latel

4) a:oézﬁaéé - @%méow - 8p° J0K5-
Sosocsees

Match the following

List-1 List-1I

(Dynasty) (Region)

A) Lata 1) South Canara

B) Gangas 2) Konkan

C) Mauryas 3) Mysore

D) Alupa 4) Gujarat
5) Bihar

1) A-4, B-5, C-1, D-2

2) A-3, B-4, C-1, D-2

3) A-4, B-5, C-2, D-1

4) A-4, B-3, C-2, D-1

238HBH0?

erdze-1 erdze-2

Q) ©& 1) &ges 80P

8) KoreD 2) 8o8H

) &FBgen 3) 8

&) se) 4) Hesoes

1) -4, -5, 1-1, &-2

2) 2-3, -4, d-1, &-2

3) 2-4, -5, 1-2, &-1

4) -4, -3, d-2, &-1

Which of the following was the immediate

reason for the Arab's conquest of Sindh ?

1) Rivalry between the king of sindh and the
Khalifa's governor of Iraq

2) Rivalry of Sindh with Khalifa

3) Khalifa's zeal of conquest

4) The jewellery of khalifa was looted by the
sea pirates in sindh.

od a>ds oaen DO EHRD S5
5880 B?

1) 208 orer L0350 [oeE PdHP KSEE ocss
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192.

193.

NS

2) pdar&® 20§ @) VA

3) pdar GY) BEdn eEv)ro

4) 205° 505D GPoren Pdar eifdered
& ST

Consider the following statements.

1) Ibrahim Lodi was the only Delhi sultan to
be killed onthe battlefield

2) Qutub-ud-din died while playing chaugan
(horse polo)

Which of the statements given above is/ are
correct.

1) 1 only 2)2 only

3)Both 1 and 2 4) Neither 1 nor 2
Bob (830 HBKBoSo?

1) sipiro 8% Sr@ed &5 oS ang girens®
H0:5eT°D

2) éoééoeao%ﬁ HS (@5{3@56‘5) 95088
SoBeBowetd.

1) 1, Sr&ad 2) 2,87

3) 1,50805 2 4) 25

Match the following

List-1 List-1II

A) Ayagars 1) Heads of seema
(District)

B) Nayankars 2) Heads of sthala
(Sub-district)

C) Parupatyagars 3) Military governors
of the provinces

D) Gaudikas 4) Village functionar
ies

1) A-3, B-4, C-2, D-1

2) A-3,B-4, C-1,D-2

3) A-4, B-3, C-1, D-2

4) A-4, B-3, C-2, D-1
D cHIKE Je(reayy HOPOILH Ho2ofod 8od
& HoDeNok.

erder-1 -2

D) SO 1) 55 wodihen (Eer)

&) TPCHo8Y 2) éo (&5-8ep)
SISOV

2) @°6aa’)é§§ g it} 3) @m‘béa‘\)e) Qered
fgtsieNey)

&) FP&zren 4) [ se85eSEyen
1) 9-3, -4, -2, &-1
2) 2-3, -4, d-1, &-2
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194.

195.

196.

3) 2-4, -3, d-1, &-2

4) -4, -3, d-2, &-1

Consider the following statements.

1) Jebunnisa was the scholarly daughter of
Aurangazeb

2) Jehanara was the daughter of Shajahan,
who supported Dhara Shiko

3) Roshanara was the daughter of shajahan,
who supported aurangazeb

Which of the above statements is / are cor-
rect.

1)2and 3 2)1,2,and 3
3)1,and 3 4)1and 2

(Bod (HBeTO HBKBoPoR?

1) @aw@cl& TSorkEen HolksS SR}

2) esseard RERE zﬁacgéarw QIS PescS
5508

3) B8 TBSonEean oG&ET JODI PesstS
S

2 REDofes® $o@I6?

1) 2, o8 3 2) 1,2,5080% 3

3) 1, Sobcs» 3 4) 1, HdSs» 2
Which Mughal Emperor became the first
pensioner of the British ?

1) Bahadur Shah I

2) Bahadur Shah I

3) Shah Alam IT

4) Mahammad Shah Rangeela

OBR 78 0sd DRIE D DS SEB?

1) oeseb & -1 2) aseErsar -2

3) & se0-2 4) o35S Foher
Consider the following statements.

1) Baji Rao I considered to be the freatest
among the peshwas

2) Peshwa Baji Rao Il was popularly known
as Nana Sahab

Which of the statements given above is / are
correct ?

1) 1, only 2)2 only

3)Both 1 and 2 4) Neither 1 nor 2
(Bod (HBeTO HBKBoPoR?

1) ardordy -1 Harses® A8y 958
DBKBoBerzean.

2) S5 2T ~2 TR IS BRY Bowtd.
2% ad)d JEDodod® $OGIO 26?

1) 1,88 2) 2,508

3) 1,500 2 4) &z
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197.

198.

199.

Downward filtration hypothesis of the Brit-
ish was related to.

1) judiciary 2) Land revenu

3) Military 4) Education
{_é’)é%ﬁ 8 a°5e5§ 2}@“5& K020080D387?
1) argoﬁ:zééég 2) &0 eseado

3) oeerd 4) D

Match the following

List-1 List-II

A) Swami Narayan sect 1) Panduranga

B) Paramahanasa Mandali 2) Swami
Sahajananda

C) Manav Dharma Sabha 3) Saraladevi
Chaudarani

D) Bharath stri Mandali 4) Durga Ram
Mancharam

1) A-2, B-1,C-3, D-4

2) A-2, B-1, C-4, D-3

3) A-1, B-2, C-4, D-3

4) A-1,B-2, C-3, D4

2BHBIS0?

erder-1 erdee-2

D) Feo TPoechesTy 1) Feodson

&) HBHEPoD oKD 2) I DTPeFHOLS

Q) IS B0 3) $85°RD T ETod

&) 558 @ $H00%d 4) cﬁacgov& Sowedo

1) -2, -1, -3, &-4

2) -2, -1, d-4, &-3

3) d-1, H-2, v-4, &-3

4) 9-1, -2, 1-3, &-4

Which of the following is/are correct about

jamnalal Bajaj, a famous industrialist and

founder of the Bajaj group of companies.

1) He worked as the treasurer of National

Congress

2) He founded Gandhi Seva Sangh

3) He founded Go sevak Sangh

4) He left his title of Rai Bahadur During Non-

Cooperation Movement
1)1,2,3,4 2)1,2,4
3) 1 and 4 4H1,3,4

(5508 PBFWE FE HOKN werd (o6 @b
Bonde ﬁgééxﬁ; aserd e H00D S0
TAS® $BIO HB?
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200.

1) 085 gr88 280D oRD Sahsore H
R,

2) rro D& BoRrel) FDOTE

3) @& FFHHE oS S;%Joavtﬁa

4) JBaDH JoeBBes €350 $5005H08°% @&
ol a5rEr ol DD DED1EPL.
11,2 3,4 21,24

3) 1, odcsw 4 4)1, 3,4
Assertion (A) Moksha gundam
vishweshraiah served the mysore state as
diwan and built the famous krishnaraja sagar
dam on cacuvery in mysore.

Reason (R) : He was honoured with Bharat
ratia and his birthday on 15th september is
observed as Enginerrs day inIndia.

1) Both (A) and (R) are true and (R) is the
correct explanation to (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)1is false (R)1is true

D@ yBaEg0 (A): Iegrvoio 8)%5%560‘53?3 o8
P8 BT HIVF. DHOAH B0 P
FodrEes’ (S50 BFores S wogsodd
Qoeeed.

6% (R) : 585 58585 Fomrdd> $o0a»
280 afOSH 15 J3RoabH 202dGE m
B0&a5rs® 238059 E0¢0TNX0.

1) (A) %086 (R) &0 BotH @0 H8050
(R)(A) & $6&0% 586

2) (A) S8 (R) en Botdh a%0 520 (R)(A)
& SO DHBE S

3) (A) a=%%0 (R) oaesssm

4) (A) oxs55 (R) avgs80

kekk
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